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��
 � � � � � 	 � �  ����� ������� A ��
�������� ���������� ������
���� X ��!������ ���
�
��� ��
�

�@ ∅, X ∈ A2
�@ A,B ∈ A =⇒ A ∪B ∈ A, A ∩ B ∈ A2
�@ A ∈ A =⇒ X \ A = A ∈ A�
�������� � �
���	�	� ��� �</��� ��	��	��� 	�/�
� ����	�9����D �� ��

���� Ak ∈ AD k = 1, . . . , nD ��
n⋃

k=1

Ak ∈ AD
n⋂

k=1

Ak ∈ A�

� � 
 � � � � � 	 � �  ����� :
��$�� A ��!������ σ����
�
��� ��
�

An ∈ A, n = 1, 2, . . . =⇒
∞⋃
n=1

An ∈ A,
∞⋂
n=1

An ∈ A.

��
 � � � � � 	 � �  ����� 5�������� X ������ � ��������� σ��
��$���
��� ��
�������� A ��!������ ���

���� 	
���
������� � �$�!���
����� {X,A}�



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� ���

:� ��	�� � ��� 9� �	�9�����X ����� /
�$ ,���	
 
�,���	
� σ2����/


��� ����	�9����� -
���
��� σ2����/
 ����<��� ������
 �	�9����

A0 = {∅, X}, A0 = {A : A ⊆ X}.
-
� K��� A0 B ����� I/��	��J σ2����/
�D 	�,
�������
���������D � A0 B
����� I/������J σ2����/
�D ������0�� �� ��
� 	�����#
��� X�

� � � 
 �� �  ����� ����� �� ��������� X !�
��� �������� ������� ���
��
�������� D� (��
� ��&������� �������,� σ��
��$��� �$�!������� 
σ(D)� ��
����&� ��� ��������� �! D�

������� σ(D) �������� 	����	$%�� � ��� ��
���D ��� ���� A B �</��
σ2����/
� ����	�9���� XD ����
9�0�� ������� DD �� σ(D) ⊆ A�

# �� � � � 	 � � C �� ������� �	�9���� σ(D) 	�,
��<� σ����
�
��2 	�
��

#�
���� ����
��� ���#
��� D�
�� M��� {Aα} B �
��,���$	�� ��������� σ2����/
 	� XD �� A =

⋂
α

Aα ���2

9� �������� σ2����/
��� ������	�D ��� σ(D) =
⋂
α

AαD ��� {Aα} B ���������

���� σ2����/
D ����
9�0�� ������� �	�9���� D�
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��
 � � � � � 	 � �  ��� � ����� �� ��������� X !�
��� �������� �
�
��$�� ��� ��
�������� A� *���"� μ(A)� ����
�
���� �� ����������
A ∈ A� ��!������ �

��2 �������� �� A� ��
�

�@ μ(A) ≥ 0 

 ���� A ∈ A2
�@ 

 
%$��� �������� ��$��� ������� ����������%&��� ��������

An ∈ A� n = 1, 2, . . .� 	�� �� Ai ∩ Aj� i �= j� ������ ���
∞⋃
n=1

An ∈ A ���

��
���� �������� ��
���� ������������ .σ�������������01

μ

( ∞⋃
n=1

An

)
=

∞∑
n=1

μ(An).

5��� μ ��!������ ���
����� ��
� 
���
����
��� ����
���� ��
����1

�@ μ(X) <∞�

!�
� μD ,���		�� 	� ����/
� AD �/������ �����<0��� ����������C



��� ����� %� $���(�������
� �
��
+����

�� μ(∅) = 0�

�� μ(A) ≤ μ(B) ��� A,B ∈ A �����D ��� A ⊆ B�

�� μ(A ∪B) = μ(A) + μ(B)− μ(A ∩ B) ��� ���� A,B ∈ A�
 � M��� An ∈ AD n = 1, 2, . . .B �/
��<0�� ������������$	���$ �	�9����D

�� �� A1 ⊇ A2 ⊇ . . .D �����D ��� μ(A1) <∞ �
∞⋂
n=1

An ∈ AD ��

μ

( ∞⋂
n=1

An

)
= lim

n→∞μ(An).

"� M��� An ∈ AD n = 1, 2, . . . B ��,
����<0�� ������������$	���$ �	�2

9����D �� �� A1 ⊆ A2 ⊆ . . .D �����D ���
∞⋃
n=1

An ∈ AD ��

μ

( ∞⋃
n=1

An

)
= lim

n→∞μ(An).

#�� � � � 	 � � � M��� 	� ����/
� A ,���	� +�	���� �	�9����� μD �/����2
<0�� ��������� ������������C

A,B ∈ A, A ∩ B = ∅ =⇒ μ(A ∪B) = μ(A) + μ(B),

�� ��� ����,����$���� ����D ��� μ �������� ��
�� 	�AD ��������	� �
���
��$
��������  ��� ������D �����

∞⋂
n=1

An = ∅D �� �� μ(An)→ 0 �
� n→∞�

�����<0�� 
�,��$��� �������� ��	�� �, 	��/���� ��9	
� 
�,��$�����
���
�� ��

�

� � � 
 �� �  ���� ?��
������
�@� ����� X � ��������� ����������
A � �
��$�� ��� ��
�������� � μ0 � ���� �� A� #�
� ��&������� ���
�
�
�����
������ �������� Xn ∈ A ������ ���

μ0(Xn) <∞, X =
⋃
n

Xn, ? ����@

�� ��&������� � ������ �
��������� ���� μ� ����
�
���� �� σ(A)�  ��

 %&� � 	
����#
��
� μ0� �� �� ���� � ���

μ(A) = μ0(A) ∀A ∈ A.
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#�� � � � 	 � � � *�� ��	��	�� ��

 ������� ? ����@D ������	�D �
���	�	��

��
 � � � � � 	 � �  ���"� 5�������� X ������ � ����� μ� ����
�
�����
�� ��������� σ��
��$�� A� ��!������ 	
���
������� � �

�� � �$��
!������� {X,A, μ}�

4����< σ2����/
� A ��9	� �����	��$ �	�9������� ���� A ∪ N D ���
A ∈ AD �N ⊂ A0 ��� 	�����
��� A0 ∈ AD ���<0��� 	�����< ��
�C μ(A0) = 0�
:��
��	� �
���
��$D ��� ������� �	�9���� ÃD ����
9�0�� �	�9����� ���2
,�		��� ����D ���9� �������� σ2����/
��� -
���
�	���� � ��
�� {X, Ã, μ}
	�,
������ 	������

� � 
 � � � � � 	 � �  ���)� ����� {X,A, μ} � ��
��� ������������ � ���
���� #�
� ��������� �������� P ����
� ��� 

 ���� x ∈ X0 ⊆ X� �
�
μ(X \ X0) = 0� �� �� $�
�� ��������� ��� �������� P ��	���
�� 	��
��� ����� .	� �


 μ0�


���#� ������� ������� &��

�����<0�� �
���

 �,��
��
� �
���
�	��� ����<��� 	��/���� ��9	
2
�� ��� ���
�� ��
���	����� � ������	
� �
��������

0��
������ ��&���&�� ����������	�

-���$ �	�9����� X = {x1, x2, . . .} 	� /���� ��� ����	�D � A B σ2����/
�
���� ����	�9���� X� 4����� ��
� μ 	� ����

���� ���

���� 	
��

��
�����
 {X,A} ,������� ������� μn = μ({xn}) ≥ 0C

μ(A) =
∑

n:xn∈A
μn,

��� A ∈ A B �</�� ����	�9����� X� !�
� μ ��	��	�D ����

μ(X) = μ

( ∞⋃
n=1

{xn}
)

=

∞∑
n=1

μ({xn}) =
∞∑
n=1

μn <∞.

9�&���&�� ����������	� {R1,B(R1)}
-���$ X = R1 B ����������$	�� �
����D � 〈a, b〉 B �
���9����D �� �� ��	�

�, �	�9���� ����
(a, b], [a, b), (a, b), [a, b],
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��� −∞ ≤ a ≤ b ≤ ∞� �/�,	���� ��
�, A ������� ����	�9���� A ⊆ R
1D

������0�� �, ��	��	
� �/H���	�	�� 	���
�����<0���� �
���9�����C

A =
n⋃

i=1

〈ai, bi〉 , n <∞. ? ����@

������	�D ������� A �/
�,��� ����/
�D 	� 	� �������� σ2����/
���

��
 � � � � � 	 � �  ����� σ��
��$��� �����
���� �������� A� �$�!�����
��� B(R1) � ��!������ ��

�
����� σ����
�
�� �������� 
�������
��
���� �� ���� � �� '
������ � ��

�
������ ���#
�������

7	������	� ��
��������� �,��
���� �
���
�	���� {[a, b],B([a, b])}D ���
B([a, b]) ������� �, �	�9���� B ⊆ [a, b] �����D ��� B ∈ B(R1)� �������
B([a, b]) 	�,
������ ��

�
����� σ����
�
�� ��
�,�� [a, b]�

� � 
 � � � � � 	 � �  ���1� %

��  
�
�� �� R1 ��!������ ���� λ� �����

�
���� �� {R1,B(R1)}� ���� � ���

λ(〈a, b〉) = b− a.


 ���� −∞ ≤ a ≤ b ≤ ∞�

;, ���
��
  ���� �������D ��� ��
� .�/��� 	� R
1 ��0������� � ���	2

����		�� �������D ��� ��
� .�/��� 	� R1 	� �������� ��	��	��D ��� ���
λ(R1) =∞�

��	��	�� ��
� 	� /�
�������� σ2����/
� �
���� ��� ��
�,�� ��9�� /
�$
,���	� � ����0$< ������� 
��	

�
�
���D ����
�� ��
��������� �����2
<0�� �/
�,���

��
 � � � � � 	 � �  ���&� *���"� F (x)� x ∈ R1 ��!������ ������
�

��	

�
�
��� �� R

1� ��
� ��� �$
�
��� �
�
�%&��� ����������1

�@ F (x) � ���$���%&� ����"� 2

�@ F (−∞) = lim
x→−∞F (x) = 0� F (+∞) = lim

x→+∞F (x) <∞2

�@ F (x) ���������� ������� �� �� lim
h→+0

F (x+ h) = F (x) 

 ���� x ∈ R1�

#�� � � � 	 � � � *�� +�	���� 
���
�����	�� 	� ��
�,�� [a, b] �������� �
�
�	����� ���

F (a) = lim
x→a

F (x) = 0, F (b) = lim
x→b

F (x) <∞.
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��� �
�
 ������� ���

����
$ � �����$,���	��� +�	���� 
���
�����	�� F (x) ,������ +�	���<
�	�9����� μ0 	� �
���9����� 〈a, b〉C

μ0((a, b]) = F (b)− F (a), μ0([a, b]) = F (b)− F (a−),
μ0((a, b)) = F (b−)− F (a), μ0([a, b)) = F (b−)− F (a−),

��� F (x−) = lim
h→+0

F (x − h)� *����D ���� A =

n⋃
i=1

〈ai, bi〉D n < ∞D ��� �
���2

9���� 〈ai, bi〉 ����
	� 	� ��
�����<���D �� ����9��

μ0

(
n⋃

i=1

〈ai, bi〉
)

=
n∑

i=1

μ0(〈ai, bi〉).

��� ���
� �
 ,����� μ0 	� ������� AD ������0�� �, �	�9���� ���� ? ����@�
4 ���� ������� +�	���� 
���
�����	�� F (x) ?��� ��
�����	��  ���&@ μ0 ��2
������ ��	��	�� ��
�� 	� ����/
� AD ��K���� �� ���
���  ���� ��9�� /
�$
�
����9�	� � �
���� ���	����		
� �/
�,�� �� ��

 μD ,���		�� 	� �,��2

���� �
���
�	���� {R1,B(R1)}�

# �� � � � 	 � � C �� � ��9��� ��	��	�� ��
�� μD ,���		�� 	� {R1,B(R1)}D
��9	� ���,��$ +�	���<

Fμ(x) = μ((−∞, x]), x ∈ R
1.

;, ������� ��

 ?��� 
�,��  ����@ �
������D ��� Fμ �������� +�	����� 
��2
�
�����	��D �
���� Fμ(+∞) = lim

x→+∞Fμ(x) = μ(R1).

�� !�9�� +�	������ 
���
�����	�� � ��	��	
�� ��
��� 	� {R1,B(R1)}
��0������� �,���	� ��	�,	��	�� ������������D �� �� ������ ��	��	�� ��
� μ
������������� +�	���� 
���
�����	�� Fμ(x)D � 	��/�
��D ��� ������ +�	����

���
�����	�� F (x) 	� R1 ��0������� ��	��	�� ��
� μ �����D ��� Fμ ≡ F �

9�&���&�� ����������	� {Rn,B(Rn)}
-
���
�	���� Rn ���$ �
���� �
��,����	�� n K�,�����
�� �
��
� R1D

�� �� Rn = R
1×. . .×R1 B �	�9����� ���
�����		
� 	�/�
�� x = (x1, . . . , xn)

∗�
��
������ 	� K��� �
���
�	���� ������� ����	�9���� AnD �/
�,���		�<
�	�9�������

A = A1 × . . .× An =
n∏

k=1

Ak, Ak ∈ A,



��� ����� %� $���(�������
� �
��
+����

��� A B ����/
� ����	�9���� �
���� ���� ? ����@� :��
��	� ����,��$D ���
An �/
�,��� ����/
��

��
 � � � � � 	 � �  ����'� σ��
��$��� �����
���� �������� An� �$�!�����
��� B(Rn) � ��!������ ��

�
����� σ����
�
�� �������� Rn� � ��
'
������ � ��

�
������ ���#
�������

��
 � � � � � 	 � �  ������ %

��  
�
�� �� R
n ��!������ ���� λn�

����
�
���� �� {Rn,B(Rn)}� ���� � ���

λn

(
n∏

i=1

〈ai, bi〉
)

=

n∏
i=1

(bi − ai)



 ���� −∞ ≤ ai ≤ bi ≤ ∞�

;, ���
��
  ���� �������D ��� ��
� .�/��� 	� Rn ��0������� � ���	2
����		�� �������D ��� ��
� .�/��� 	� Rn 	� �������� ��	��	��D ��� ���
λn(Rn) =∞�

��	��	�� ��
� 	� /�
�������� σ2����/
� R
n ��9�� /
�$ ,���	� � ����2

0$< ���

��� ������� 
��	

�
�
���D ����
�� ��
��������� �����<2
0�� �/
�,���

��
 � � � � � 	 � �  ������ *���"� F (x1, . . . , xn)� x1, . . . , xn ∈ R
1 ��!����

��� ���

��� ������
� 
��	

�
�
���� ��
� ��� �$
�
��� �
�
�%&��
�� ����������1

�@ F (x1, . . . , xn) ��������� � �
�
�%&�� ����
�1

Δ1 . . .ΔnF (x1, . . . , xn) ≥ 0;

�
� Δi � �������� �������� ��!����� �� ���������� xi1

ΔiF = F (x1, . . . , xi−1, xi + hi, xi+1, . . . , xn)− F (x1, . . . , xi−1, xi, xi+1, . . . , xn),

� h1 ≥ 0, . . . , hn ≥ 0 ����!��
���2

�@ ��
� ��� $� �
�� �! ���������� xi → −∞� ��

F (x1, . . . , xn)→ 0;

��
� ��� ���������� xi → +∞� ��

F (x1, . . . , xn)→ F (+∞, . . . ,+∞) <∞;

�@ F (x1, . . . , xn) ���������� ������ �� ���������� xi�



%��� ,�
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��(�� �������� �� )�����
��� �
�
 ������� ��9

;, ���
��
  ���� � ������� n2��
	�� +�	���� 
���
�����	��
F (x1, . . . , xn) ?��� ��
�����	��  �����@ �������D ��� 	� �,��
���� �
�2
��
�	���� {Rn,B(Rn)} ��0������� ��	�,	��	� ��
�����		�� ��	��	�� ��
�
μ �����D ��� Fμ ≡ F D ���

Fμ(x1, . . . , xn) = μ

(
n∏

i=1

(−∞, xi]
)
, x1, . . . , xn ∈ R

1. ? ����@

4�
	� � �/
��	��D ���� μ B ��	��	�� ��
� 	� {Rn,B(Rn)}D �� +�	����
Fμ(x1, . . . , xn)D ��
��������� ����	�%�	��� ? ����@D �������� n2��
	�� +�	�2
���� 
���
�����	��� ��� ���
� ��9�� n2��
	
�� +�	������ 
���
�����2
	�� � ��	��	
�� ��
��� 	� {Rn,B(Rn)} ��0������� �,���	� ��	�,	��	��
������������� 4 K��� ������ Fμ(+∞, . . . ,+∞) = μ(Rn)�


���
� 9�&���&�� $��
���

-���$ {X,A} B 	�����
�� �,��
���� �
���
�	�����

��
 � � � � � 	 � �  ������ 9�&�������� ����"� f(x)� x ∈ X ��!������ 
A����

����� ��
�

f−1(B) ∈ A ∀B ∈ B(R1), ? ��� @

�
� f−1(B) = {x ∈ X : f(x) ∈ B} � 	
���
�� ��������� B�

��� ���
� �,��
�����$ +�	���� �,	����� ��D ��� �
��/
�, �</��� /�2

��������� ����	�9����� R

1 �������� �,��
��
� �	�9������ � X�

# �� � � � 	 � � C �� -�����		�� +�	���� f(x) ≡ const ������	� ��������
�,��
���� ��	������$	� �</�� σ2����/

�

�� ;	������
	�� +�	���� IA(x) �	�9����� AD ��
��������� ���

IA(x) =

{
1, �
� x ∈ A,
0, �
� x /∈ A,

�������� �,��
���� � ��� � ���$�� ��� ������D ����� �	�9����� A �,��
���D
�� �� A ∈ A�

�� A������ A2�,��
������ +�	���� f(x) ��� ��
�	������$	��D ��� �9�
σ2����/
� AD �� �� A2�,��
���� f(x) �������� A′2�,��
����D ���� A ⊆ A′�

*�� �
���
�� �,��
������ +�	���� �����$,����� �����<0�� 
�,��$����



��C ����� %� $���(�������
� �
��
+����

�� � 
 �� �  ����� *���"� f(x)� !�
���� �� �!������� ������������
{X,A}�  �
 ��� A��!�������� ��
� 

 �� ���� c ∈ R1 �!��������  ��

 %�� ���������

{x ∈ X : f(x) ≤ c}.
8�	���� ϕ(y)D y ∈ R1D ,���		�� 	� ����������$	�� �
����D 	�,
������

��

�
����� ������
�D ���� �	� B(R1)2�,��
���� -
���
��� /�
��������
+�	���� ����<��� ��� �����	�2	��
�

�	
� +�	�����

� � � 
 �� �  ��� � ����� {X,A} � �!������� ������������� �
���� 
����"� h(x) = ϕ(f(x))� x ∈ X�  �
 ��� A��!�������� ��
� ����"� 
f(x)� x ∈ X� A��!������� � ����"� ϕ(y)� y ∈ R1  �
 ��� $���
�������

-
���
� �
�+���������� ���
���� 	�� ��	��	
� ��� ����	
� 	�/�
��
�,��
��
� +�	���� 	� �
����� ,� 
���� �	�9����� �,��
��
� +�	�����

� � � 
 �� �  ���"� ����� ����"�� fn� n = 1, 2, . . . ����
�
��� �� �!�����
��� ������������ {X,A} � A��!������� (��
� ����"��

f1(x) + f2(x), f1(x)f2(x), 1/f1(x) 	��� ��
���� f1(x) �= 0�,

|f1(x)|, max{f1(x), f2(x)}, min{f1(x), f2(x)}, sup
n
fn(x), inf

n
fn(x)

�����  �
 %�� �!���������

;, �
�����		��� 
�,��$���� �������D ��� �	�9�����

A = {x ∈ X : ∃ lim
n→∞ fn(x)},

	� ����
�� ��0������� �
���� ������������$	���� �,��
��
� +�	����
{fn(x)}D �������� �,��
��
�D �� �� A ∈ A�

�����<0�� ��
�����	�� ����
���� ��9	
� �
���
 �,��
���� +�	�����

��
 � � � � � 	 � �  ���� � >!������ ����"� f(x)� ����
�
���� �� �!�
������� ������������ {X,A}� ��!������ 	
������ ��
� ��� ���������
�������� ���
� !��������

������	�D ��� ��9��� �
����� �,��
���� +�	���� f(x) ��������� �
��2
������	��

f(x) =

m∑
k=1

ckIAk
(x), x ∈ X, ? ���"@

��� ck ∈ R1D Ak ∈ A � Ai ∩ Aj = ∅D i �= jD m <∞�



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� ���

�� � 
 �� �  ���)� .
 �� ��� ������"���
���� �!������� ����"��
f(x) ��&������� ���$���%&� ���
�
�����
������ ������"���
���� ����
���� �!������� ����"�� {fn(x)}� ���
 &� � � f(x)� �� ��

0 ≤ fn(x) ↑ f(x) ��� n→∞ 

 ���� x ∈ X.
6�,��$���D �
�����		
� �
%�D �������� ��<���
� �
� ����
��	�� �	��2

�
��� .�/����
��
 � � � � � 	 � �  ����"� ����� f(x) � �������� �!������ ����"� �

����
�
���� �� �!������� ������������ {X,A}� �������

Af = {f−1(B) : B ∈ B(R1)}
��!������ σ����
�
��2 	�
�#�
���� ������
� f(x)�

:��
��	� �/����$��D ��� Af ����������$	� �������� σ2����/
��D �
����
Af ⊆ A� ����� +�	����D �,��
��
� ��	������$	� σ2����/

 Af D ����� �
�2
���� �����	���

� � � 
 �� �  ����� *���"� g(x)� x ∈ X  �
 ��� Af ��!������� ���
� �
��
��� ���
�� ���
� ��&������� $���
����� ����"� ϕ(y)� y ∈ R

1 ���� �
���

g(x) = ϕ(f(x)) ∀x ∈ X.
��
 � � � � � 	 � �  ����)� .�� �!������� ����"�� f(x) � g(x)� !�
�����

�� {X,A, μ}� ��!���%�� "������
������� ��
� f(x) = g(x) ����� ��%�

� �� ���� μ� �� �� μ{x ∈ X : f(x) �= g(x)} = 0�

��
 � � � � � 	 � �  ������ ���
�
�����
������ {fn(x)} �!������� �����
"��� ����
�
����� �� {X,A, μ}� ��!������ ������
��� 	���� ����� �
����"�� f(x)� ��
�

μ{x ∈ X : lim
n→∞ fn(x) �= f(x)} = 0.

�� � 
 �� �  ���1� #@
� ���
�
�����
������ {fn(x)} �!������� ����"��
���
��� � f(x) ����� ��%
�� �� f(x) �!�������

��
 � � � � � 	 � �  ����1� ���
�
�����
������ {fn(x)} �!������� �����
"��� ����
�
����� �� {X,A, μ}� ��!������ ������
��� 	� �


 μ � �!�
������� ����"�� f(x)� ��
� 

 
%$��� ε > 0

lim
n→∞μ{x ∈ X : |fn(x)− f(x)| > ε} = 0.

����	�%�	�� ��9�� K���� ����� ������ ���������� ��
��������� ���2
��<0��� ���
������



�9� ����� %� $���(�������
� �
��
+����

�� � 
 �� �  ���&� #@
� ���
�
�����
������ {fn(x)} ���
��� � f(x) ���
��� ��%
� ��������
��� �������� ���� μ� �� fn(x) ���
��� � f(x) ��
���� μ�

�/
��	�� ����
9��	��D ���/0� ����
�D 	� ��
	�D ��� 	� ��	��D ��
�������
�����<0�� 
�,��$����

� � � 
 �� �  ����'� #@
� ���
�
�����
������ {fn(x)} ���
��� � f(x) ��
����� �� ��&������� ��
���
�
�����
������ {fnk

(x)}� ���
 &� � � f(x)
����� ��%
��


���"� 9���+��� (���+�

-���$ {X,A, μ} B ���	�� �
���
�	���� � ��
��� ��
������ �	����� �	2
���
�� .�/��� �� �
����� �,��
���� +�	�����

��
 � � � � � 	 � �  ����&� 8��
�
��  
�
�� �� 	
����� ���

����

������� f(x)� ���%&�� ��
 ? ���"@� ����
�
 ��� ����������∫
X

f(x)μ(dx) =
∑
k

ckμ(Ak). ? ���)@

����
$ 
���
���
�	�� ��	���� �	���
��� .�/��� 	� 	���
������$	�< �,2
��
���< +�	���< f(x)� 4 ���� ���
��
  ���) ��0������� ������������$2
	���$ 	���
������$	
� �
���
� �,��
��
� +�	���� {fn(x)} �����D ���

0 ≤ fn(x) ↑ f(x) �
� n→∞ ��� ���� x ∈ X. ? ����@

��
 � � � � � 	 � �  ����'� 8��
�
����  
�
�� �� �
��
����
�����

���

���� ������� f(x) ��!������ ��
�����∫
X

f(x)μ(dx) = lim
n→∞

∫
X

fn(x)μ(dx). ? ���1@

*�		�� ��
�����	�� ��

���	�D ������$�� �
� ,���		�� +�	���� f(x)
�
���� ? ���1@ ?��	��	
� ��� /����	��	
�@ ��0������� ��� �</�� ���
����2
��
�<0�� ������������$	���� ? ����@ � 	� ,������ �� �� �
/�
��

*�� �
������� /���� �/�,	����$

I(f) =

∫
X

f(x)μ(dx).



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� �9�

-���$ ����
$ f(x) B �
��,���$	�� �,��
���� +�	����� �/�,	����

f+(x) = max{f(x), 0}, f−(x) = max{−f(x), 0}.
����� +�	���� f+(x) ≥ 0D f−(x) ≥ 0 �,��
��
 � f(x) = f+(x)− f−(x)�

� � 
 � � � � � 	 � �  ������ #�
� min{I(f+), I(f−)} < ∞� �� ���
�
��
 
�
�� �� f(x) ���
����
� 	�
� �	

�
�
�� � ����� ��


I(f) =

∫
X

f(x)μ(dx) = I(f+)− I(f−).

#�
� |I(f)| < ∞� �� f(x) ��!������ ���
�
�
�
��� 	� �


 μ �
�
�����
�
����

>������
 �� ��������� A ∈ A ����
�
 ��� ���∫
A

f(x)μ(dx) =

∫
X

f(x)IA(x)μ(dx),

� f(x) ��!������ ���
�
�
�
��� �� ���#
���
 A� ��
� �����������
�� ����"� f(x)IA(x)�

#�� � � � 	 � � � 4 ������������ � ��
�����	���  ����� �	���
�� .�/��� ��
	���
������$	�� +�	���� f(x) ��
�����	 ������D �
� K��� 0 ≤ I(f) ≤ ∞�

-�
������� �������� �	���
��� .�/���D 	����
������		� �
����<0�� �,
��� ��
�����	���

��
∫
X

IA(x)μ(dx) = μ(A) ��� ������� A ∈ A�

�� *�� ���� α, β ∈ R1

I(αf + βg) = αI(f) + βI(g),

�
���� ���� �
���� ����$ ����� ��
��D �� �	���
�� � ����� ����� ��
�����	�

�� M��� f(x)D g(x) �	���
�
���
 � f(x) ≤ g(x)D �� I(f) ≤ I(g)�

 � M��� μ(A) = 0D ��
∫
A

f(x)μ(dx) = 0�

"� M��� f(x) = g(x) ����� ��<�� �� ��
� μD �� I(f) = I(g)D �
���� �/�
�	���
��� ��0�����<� ��� 	� ��0�����<� ��	��
���		��



�9� ����� %� $���(�������
� �
��
+����

)� M��� h(x) ≥ 0 �	���
�
���� � |f(x)| ≤ h(x) ����� ��<�� �� ��
� μD ��
f(x) �	���
�
�����

�� ;	���
��
 I(f) � I(|f |) ��0�����<� ��� 	� ��0�����<� ��	��
���		�D
�
� K��� �	���
�
������$ +�	���� 
��	����$	� �	���
�
������� �� ������D
�� ��

|I(f)| <∞ ⇐⇒ I(|f |) <∞,
�
��� ����D |I(f)| ≤ I(|f |)�

1� M��� f(x) ≥ 0 � I(f) = 0D �� f(x) = 0 ����� ��<��� 4 ����	����D ����
I(|f |) = 0D �� f(x) = 0 ����� ��<���

&� M��� +�	���� f(x) �	���
�
���� 	� AD �� �	� �	���
�
���� 	� �</��
�,��
���� �	�9����� A′ ⊆ A�

�'� M��� f(x) = 0 ����� ��<��D �� I(f) = 0�

��� ?:�
���	���� L�/
%���@� M��� c > 0D ��

μ{x ∈ X : |f(x)| ≥ c} ≤ 1

c

∫
X

|f(x)|μ(dx).

��� ?:�
���	���� !�	��������@� M��� p ≥ 1D ��⎛⎝∫
X

|f(x) + g(x)|p μ(dx)
⎞⎠1/p

≤
⎛⎝∫

X

|f(x)|p μ(dx)
⎞⎠1/p

+

⎛⎝∫
X

|g(x)|p μ(dx)
⎞⎠1/p

.

��� ?:�
���	���� ;�	��	�@� M��� ϕ(y)D y ∈ R
1 �
����� � μ(X) = 1D ��∫

X

ϕ(f(x))μ(dx) ≤ ϕ

⎛⎝∫
X

f(x)μ(dx)

⎞⎠ .

� � ?:�
���	���� (��$��
�@� M��� 1 < p, q <∞ �
1

p
+

1

q
= 1D ��

∣∣∣∣∣∣
∫
X

f(x)g(x)μ(dx)

∣∣∣∣∣∣ ≤
⎛⎝∫

X

|f(x)|p μ(dx)
⎞⎠1/p

·
⎛⎝∫

X

|g(x)|q μ(dx)
⎞⎠1/q

,



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� �93

�
���� �	���
�� � ����� ����� ��
�����	D ���� �	���
��
 � �
���� �����
��	��	
� -
� p = q = 2 	�
���	���� (��$��
� 	�,
������ �

��
������
'�!�(9�����������C∣∣∣∣∣∣

∫
X

f(x)g(x)μ(dx)

∣∣∣∣∣∣
2

≤
∫
X

|f(x)|2μ(dx)
∫
X

|g(x)|2μ(dx).

�� � 
 �� �  ����� ?σ2�������	���$ �	���
��� .�/���@� ����� ����"� 

f(x) ������������� #�
� X =
∞⋃
n=1

An� �
� Ai ∩ Aj = ∅ ��� i �= j� ��

∫
X

f(x)μ(dx) =

∞∑
n=1

∫
An

f(x)μ(dx),

������ � ������ ����� �������
� �������� � � 
 ���
��� �$��
%����

;, ���
��
  ����� �������D ��� ��� �</�� 	���
������$	�� �,��
����
+�	���� f(x) ≥ 0 +�	���� �	�9�����

ν(A) =

∫
A

f(x)μ(dx), A ∈ A ? ���&@

�������� ��
�� 	� �,��
���� �
���
�	���� {X,A}�
� � � 
 �� �  ����� ?�/���<�	�� 	��
�

�	���$ �	���
��� .�/���@�

����� f(x) � ������������ ����"� � ���
� 

 
%$��� ε > 0 ��&��

������ ����� δ > 0� ���

∣∣∣∣∣∣
∫
A

f(x)μ(dx)

∣∣∣∣∣∣ < ε 

 �� ���� �!��������

��������� A ∈ A ������� ��� μ(A) < δ�

�����<0�� ���
��� ����
9����D ��� ������ ��
� νD �/���<�	�2	��
�

�2
	�� ��	������$	� ��

 μD ��������� �
��������	�� ? ���&@�

�� 
 � � � � � 	 � �  ������ 5��� ν ��!������ �����������
	


�����
�������
���� �

� μ 	�����&���� ν ! μ�� ��
� 

 
%$��� A ∈ A ���
����� ��� μ(A) = 0 �
�
���� ��� � ν(A) = 0�

�� � 
 �� �  ����� ?6���	=:������@� #�
� ν ! μ� �� ��&������� �!���
���� ������"���
��� ����"� ρ(x) ���� � ���

ν(A) =

∫
A

ρ(x)μ(dx) ∀A ∈ A.



�94 ����� %� $���(�������
� �
��
+����

8�	���� ρ(x) 	�,
������ 	
��������� 6�����(-������� �

� ν 	�

�


 μ � �/�,	�������

ρ(x) =
dν

dμ
(x).

�����<0�� 
�,��$��� ���� �
����� ,���	
 ��

 � �	���
��� .�/����

� � � 
 �� �  ���� � 9 ��
��� � �������  ����� 

 
%$�� �!�������
����"�� g(x) ����� ����� ���������∫

X

g(x) ν(dx) =

∫
X

g(x) ρ(x)μ(dx),

�
� �������
� � 
���� � ������ ���� � ��&�����%� �
� �� ��&�����%�
�
�����������

��� ���
� �	���
�
������$ +�	���� g(x) �� ��
� ν 
��	����$	� �	��2
�
�
������� +�	���� g(x) ρ(x) �� ��
� μ�

����
$ 
������
�� ���
�� � ,���	� ��
���		�� ��� ,	���� �	���
���
.�/����

��
 � � � � � 	 � �  ������ ����� f(x) � �!������ ����"� � ����
�
���
�� �� ������������ � ����� {X,A, μ}� (��
� ���� μf �� {R1,B(R1)}� !��

������ ����������

μf(B) = μ(f−1(B)), B ∈ B(R1),

��!������ �

��2 	�
�#�
���� ������
� f �

:��
��	� �
���
��$D ��� +�	���� �	�9����� μf ����������$	� ��������
��
�� 	� /�
�������� σ2����/
� B(R1)�

� � � 
 �� �  ����" ?+�
���� ,���	
 ��
���		�� � �	���
��� .�/���@�
����� ����"� f(x)� x ∈ X �!������� � ����"� ϕ(y)� y ∈ R1  �
 ��� 
$���
������� (��
� ������

��� ���������∫

X

ϕ(f(x))μ(dx) =

∫
R1

ϕ(y)μf(dy),

�
� �������
� � 
���� � ������ ���� � ��&�����%� �
� �� ��&�����%�
�
�����������



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� �9�

������!��� ������� ��� ���
�& ����+���� (���+�

�����<0�� 
�,��$���
 ����,
��<�D � ����� ������� ��9	� ��
������$
� �
����� ��� ,	���� �	���
��� .�/����

� � � 
 �� �  ����) ?7�.�/��@� ����� ���
�
�����
������ {fn(x)} �� X
���
��� ����� ��%
� � f(x)� ������ 

 ���� n ����� ��%
� ����
� �
��� ����������� |fn(x)| ≤ ϕ(x)� �
� ����"� ϕ(x) ������������� (��
�
���
�
��� ����"� f(x) �����  �
 ��� ������������� �

lim
n→∞

∫
X

fn(x)μ(dx) =

∫
X

f(x)μ(dx).

�� � 
 �� �  ����� ?>�.���@� ����� {fn(x)} � ���$���%&� ���
�
����
��
������ ����"��� �� ��

f1(x) ≤ f2(x) ≤ . . . ≤ fn(x) ≤ . . . ,

�
� fn(x) ������������� � �� �������
� ���������� � ������������� �� ��

∃K <∞ :

∫
X

fn(x)μ(dx) ≤ K.

(��
� ����� ��%
� ��&������� �������� ���
�
 f(x) = lim
n→∞ fn(x) ������

��� ����"� f(x) ������������ �

lim
n→∞

∫
X

fn(x)μ(dx) =

∫
X

f(x)μ(dx).

�� � 
 �� �  ����1 ?-�8���@� #�
� ���
�
�����
������ ������"���
��

��� ����"�� {fn(x)} ���
��� ����� ��%
� � f(x) �

∫
X

fn(x)μ(dx) ≤ K



 ���� n� �� f(x) ������������ �

∫
X

f(x)μ(dx) ≤ K.

9���+��� (���+� �� ���&��

�����<0�� ����
9��	�� ����,
���� ���,$ ��9�� �	���
���� 6���	� �
�	���
���� .�/����



�9� ����� %� $���(�������
� �
��
+����

�� � 
 �� �  ����&� #�
� ��&������� �������
 ;�����

IR(f) =

b∫
a

f(x) dx,

�� f(x) ������������ �� ���� )�$��� λ �� [a, b] �

IL(f) =

∫
[a,b]

f(x) λ(dx) = IR(f).

#������D ��� �/
��	�� ����
9��	�� � �/0�� ������ 	� ��
	��
4����� �0� ��	� ��	���� �	���
���D ��	���		�� 	� ��	���� �	���
���

.�/����
��
 � � � � � 	 � �  ���� � ����� f(x)� x ∈ R1 � $���
����� ����"� � �

F (x) � ����"� ������
�
��� �� R
1 	��� ����
�
����  ���&�� 8��
�
��

������
�� �� f(x) 	� ������� 
��	

�
�
��� F (x) ����
�
 ��� �
��

�%&�� �$��!��1

∞∫
−∞

f(x) dF (x) =

∫
R1

f(x)μ(dx),

�
� �������
 � ������ ����� ��������� ��� �������
 )�$��� �� ���� μ�
���%&�� ����"�% ������
�
��� F (x)�

4 /��$%�	���� �
��������� ��9	
� ������� +�	���� 
���
�����	��
F (x) ��9�� /
�$ �
��������	� � ����

F (x) = F a(x) + F d(x), F a(x) =

x∫
−∞

p(y) λ(dy), F d(x) =
∑

k:xk≤x
pk,

��� +�	���� p(y) ≥ 0 �	���
�
���� �� ��
� .�/��� 	� R1D � �	�9����� �����
{xk} 	� /���� ��� ����	�D �
���� pk > 0�

��������<0�� F a(x) 	�,
������ ������
� �����������
	


���

���� 
��	

�
�
��� ��� �
���� �����������
	


����� ������
��
4 K��� ������ ��� ����� ���� x ∈ R1 ?�� ��
� .�/���@ ��
�������� 
���	����
d

dx
F (x) =

d

dx
F a(x) = p(x)D ��K���� p(x) 	�,
������ ������
� 	������

��� 
��	

�
�
���� #������D ��� ���� μa(dx) B ��
�D ���<0�� +�	���<

���
�����	�� F a(x)D �� ����	���$ p(x) ���$ �
��,���	�� 6���	�=:�������
��

 μa �� ��
� .�/��� λ�



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� �99

��������<0�� F d(x) 	�,
������ ������
� ����

����� 
��	

�
�
�
���D �
� K��� pk = F (xk) − F (xk−) ���$ ������	� ������ +�	���� F (x) �
����� �� 
�,

�� xk ∈ R

1� M��� ����� ������� ��	��	�D �� F d(x) �����	�2��2
����		��

M��� f(x) B /�
�������� +�	����D �� ��
�������� �����<0�� �
�����
�
�����	�� �	���
��� �����$���C

∞∫
−∞

f(x) dF (x) =

∫
R1

f(x) p(x) λ(dx) +
∑
k

f(xk) pk,

�
���� �	���
�� �����$��� ��	���	D ���� +�	���� f(x) p(x) �	���
�
����
�� ��
� .�/���D � 
��

∑
k

f(xk) pk �������� �/���<�	��

4 ,���<��	�� 
������
�� �
���
 ��

 	� �
����D �
�,�
���	� ��9	
�
��� �
���9�	��� !�
� δx0

(B)D B ∈ B(R1)D x0 ∈ R1D ��
��������� 
���	�����

δx0
(B) =

{
1, ���� x0 ∈ B,
0, ���� x0 /∈ B,

	�,
�������

�� 7�
���2 ���

�����
���� � ����
 x0� ����� �	���
��
�� ��
� *�
��� �
�	����� ���∫

R1

f(x) δx0
(dx) = f(x0).

-�����	�� �	���
�� ����� ,����
��<� � ����

∞∫
−∞

f(x) δ(x− x0) dx = f(x0),

��� δ(x) 	�,
��<� δ�������
� 7�
���� -
� K���D ������$�� +�	����

I(x) =

{
1, ���� x ≥ 0,

0, ���� x < 0

�������� +�	����� 
���
�����	�� ��

 *�
��� δ0D �����<�D ��� �
���	�	�


���	���� δ(x) =
d I(x)

dx
�
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���1� ���!�����	� ����������	�

�	����� ������ ��	���� ��	��	��� �
���
�	�����

��
 � � � � � 	 � �  ����"� -������� ��������� H ��!������ ���
��
��� 	
���
�������� ��
� �� H ����
�
��� 
�� �����"��1 ���#
��

"�
�
���� (+) � ����#
��
 "�
�
���� �� ����� (◦)�

.
 
%$�� '
������� x, y, z ∈ H � 
%$�� ����
 α, β �����"�� �
����� 
� �������� 
�
��� �$
�
��� �
�
�%&��� ����������1

�@ x+ y = y + x2

�@ (x+ y) + z = x + (y + z)2

�@ ��&������� '
����� 0 ∈ H ������ ��� 0 + x = x2

 @ ��&������� '
����� (−x) ∈ H ������ ��� x+ (−x) = 0 2

"@ α ◦ (x+ y) = α ◦ x+ α ◦ y2
)@ (α+ β) ◦ x = α ◦ x+ β ◦ y2
�@ (αβ) ◦ x = α ◦ (β ◦ x)2
1@ 1 ◦ x = x�

#�
� ��������� ����
�
��� �� ��&��������� ���
�� �� ������������
��!������ �
�
���
���� �
� �
������
������ ��
� ���������
����
�
��� �� ����
������ ���
�� �� ������������ ��!������ ���	�
���
����

#�� � � � 	 � � � 4� ������ ��	��	�� �
���
�	���� ���
��� "�
�
�� 0
���	����	�	D � 	
�����	���#��� "�
�
�� (−x) ��	�,	��	� ��
�������2
�� K����	��� x ∈ H� 4 ���$	��%�� �
 /���� �������$ ,	�� ��	�9�	�� ?◦@D
� �

�9�	�� x+ (−y) /���� ,����
���$ � ���� x− y�

*���� /�, ��
�	���	�� �/0	���� /���� ������$D ��� H B ��������	��
��	��	�� �
���
�	����D � �	�9����� ��������	
� ����� �/�,	����$ C�

� � 
 � � � � � 	 � �  ����)� &��	
���
������� M 
�������� ���������
���� H ��!������ ��
���������� !�������� ��������
��� �����"��
�
����� � �������� � �� ��

α, β ∈ C, x, y ∈M =⇒ αx+ βy ∈M.



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� �9�

#�� � � � 	 � � C �� ��
�����	��  ����) �,	�����D ��� ����
���
�	���� M
������ � ��9�
� ��	��	
� 	�/�
�� ����� K����	��� {x1, . . . , xn}D ����
9��
�</�< �� ���
���� ���������� α1x1 + . . . + αnxnD ��� α1, . . . , αn ∈ C�
4 ����	����D ������ ��
	� 0 ∈M �

�� M0 = {0} 	�,
������ ���
��� 	��	
���
��������
�� -�
�����	��

⋂
α

Mα �
��,���$	��� 	�/�
� ����
���
�	��� {Mα} ���9�

�������� ����
���
�	������
��
 � � � � � 	 � �  ������  ��
���� ��������� L(N) ���������� ����

������ N ⊆ H ��!������ ��������� ���� ��!������ 
������� ����
$���"�� '
������� �! N �

;, ��
�����	��  ����� �������D ��� L(N) �������� ����
���
�	�����D �
�2
��� L(N) =

⋂
α

MαD ��� {Mα} B ��������� ���� ����
���
�	���D ����
9�0��

�	�9����� N �
� � 
 � � � � � 	 � �  ����1� +
������ {x1, . . . , xn} 
�������� ������������

H ��!���%�� ���
��� �
����������� ��
�

α1, . . . , αn ∈ C, α1x1 + . . .+ αnxn = 0 =⇒ α1 = . . . = αn = 0.

M��� ��� ��	��	��� �
���
�	���� H ��0������� 	�/�
 ��	��	� 	�,���2
���
� K����	��� {x1, . . . , xn} ⊂ H �����D ��� H = L{x1, . . . , xn}D �� 	�/�

{x1, . . . , xn} 	�,
��<� ������� �
���
�	���� HD � ����� n B ��� 
���

���
���� ?���
�0�		� n = dimH@� 4 K��� ������ ��9�
� K����	� x ∈ H �����
�
��������	�� x = α1x1+ . . .+αnxnD �
���� ��K++����	�
 {αk} ��
�����	

��	�,	��	��

��
 � � � � � 	 � �  ����&� *���"� (x, y)� ����
�
���� �� 
������� ����
��������� H � �������%&� ���
���� !������ � ��!������ �����
���
	
����
�
��
�� ��
� 

 
%$�� '
������� x, y, z ∈ H � 
%$�� ����
 α, β
������

��� �
�
�%&�� ��������1

�@ (x, x) ≥ 0 � (x, x) = 0 =⇒ x = 0 2

�@ (αx+ βy, z) = α(x, z) + β(y, z)2

�@ (y, x) = (x, y)�

��
 � � � � � 	 � �  ����'� ����� �� H ����
�
��� ���
 ���� ����!��
�����
-�
��� '
������ x ∈ H $�
�� ��!����� ���
�

‖x‖ = (x, x)1/2. ? ����'@
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9 '��� �
���� ����� �� ��� ����� 	�
�#�
�� ���
 ���� ����!��
������

:����
������		� �, ��
�����	�� �
����<� �����<0�� �������� �����
2
	��� �
��,����	�� � ��
�9��		�� �� 	�
�
C

�@ ‖x‖ ≥ 0E �, ‖x‖ = 0 ������� x = 0 E

�@ ‖αx‖ = |α|‖x‖E
�@ ‖x+ y‖ ≤ ‖x‖+ ‖y‖ ?	�
���	���� �
�����$	���@E

 @ |(x, y)| ≤ ‖x‖‖y‖ ?	�
���	���� ��%�=>�	���������@D �
���� 
���	����
����������� ���$��D ���� x, y ��	��	� ,������
�

� ����0$< 	�
�
 ��9	� ������ ��	���� ���������� 	���
�����
���
����� K����	��� {xn} �
���
�	���� H�

� � 
 � � � � � 	 � �  ������ ���
�
�����
������ {xn} �������� � x ∈ H

��� n→∞ 	�����&���� xn → x�� ��
� ‖xn − x‖ → 0�

�����
	�� �
��,����	�� �������� �
	


����� � �����<0�� ��
���C

xn → x, ym → y =⇒ (xn, ym)→ (x, y).

��
 � � � � � 	 � �  ������ ���
�
�����
������ {xn} ��!������ ������
�
��������� ��
�

‖xn − xm‖ → 0 ��� n,m→∞.
��
 � � � � � 	 � �  ������ )������� ������������ � ������ ? ����'@ ��!��

����� 	������ ��
� 
%$� ���
������
��� ���
�
�����
������ ��� '
��
������ ���
��� � ���������� '
������ '���� �������������

��
 � � � � � 	 � �  ���� � )������� ������������ �� ���
 ���� ����!���

����� � ������ ? ����'@ ��!������ �����

����� 	
���
��������
��
� ��� ��
���

��
 � � � � � 	 � �  ����"� ��
������������ M ��
�$������ ���������
���� H ��!������ ����� 	������� ��
� 

 �� ���� '
������ x ∈ H

��&������� ���
�
�����
������ {xn} ���� � ��� xn ∈M � xn → x�

#�� � � � 	 � � � M��� �
���
�	���� H 	� �������� ���	
�D �� �	� ������
��9�� /
�$ 	�	���
��D �� �� ��0������� ���	�� �
���
�	���� H̃ �����D ���
H ⊂ H̃ � H ��<�� ����	� � H̃ �

-
����� �
���
�� ���������� ������������$	���� K����	��� ���$/�
����
�
���
�	���� �
�������� � �����<0�� ���
����



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� �C�

�� � 
 �� �  ����'� #�
� H � ��
�$������ ������������� �� ���
�
����
��
������ {xn} ���
��� � ���������� '
������ ������������ H ���
�
� ��
��� ���
�� ���
� ��&������� ���
�
 lim

n,m→∞(xn, xm).

��
 � � � � � 	 � �  ����)� ��
������������ M ��
�$������ ���������
���� H ��!������ ���������� ��
� �! ����� ��� xn → x� n → ∞�
�
� xn ∈M � �
�
��� x ∈M �

����� �/
�,��D ,���	���� ����
���
�	���� ���$/�
���� �
���
�	���� ��2
�� �������� ���$/�
���
� �
���
�	������

6������
�� ��9	��%�� �
���

 ���$/�
���
� �
���
�	����

,������&����� �	
����	� ����������	� Rn

M�� K����	���� ����<��� ���
�����		
� 	�/�

 ��0�����		
� ����� ?n2
��
	
� �����

@ x = {x1, . . . , xn}∗D x1, . . . , xn ∈ R

1� �����
	�� �
��,����	��
� 	�
�� �
���
�	���� Rn ���<� ���

(x, y) =
n∑

k=1

xkyk, ‖x‖ = |x| =
(

n∑
k=1

x2k

)1/2

,

��� y = {y1, . . . , yn}∗� ������	�D ��� dimRn = n�

����������	� l2

M�� K����	���� ����<��� /����	��	
� ������������$	���� ��������	
�
����� x = {x1, x2, . . .} �����D ���

‖x‖ =
( ∞∑

k=1

|xk|2
)1/2

<∞.

�����
	�� �
��,����	�� K����	��� x, y ∈ l2 ����� ���

(x, y) =

∞∑
k=1

xkyk

� ��
�9���� 	�
�� ‖x‖D ��
�����		�< �
%�� #������D ��� �
���
�	���� l2
/����	��	���
	��



�C� ����� %� $���(�������
� �
��
+����

����������	� L2{X,A, μ}�
-���$ {X,A, μ} B 	�����
�� �
���
�	���� � ��
��� ����� L2{X,A, μ}

��
��������� ��� �	�9����� ���� A2�,��
��
� ��������	
� +�	���� f(x)D
�	���
�
���
� � ����
���� �� ��
� μD �� �� �����D ���

‖f‖ =
⎛⎝∫

X

|f(x)|2 μ(dx)
⎞⎠1/2

<∞. ? �����@

�/H���	�� � ���	 ����� K�������	�	���� ��� +�	���� f̃(x)D K�������	�2
	
� ?�� ��
� μ@ ��		�� +�	���� f(x)D � � ���$	��%�� +�	���� f̃(x) 
�,��2
���$ 	� /����� ����� �, ‖f‖ = 0 ������� f = 0D ��K���� �

�9�	�� ? �����@
��
������� 	�
��D ��
�9��		�< �����
	
� �
��,����	���

(f, g) =

∫
X

f(x) g(x)μ(dx), f, g ∈ L2{X,A, μ}. ? �����@

����������$	�D L2{X,A, μ} �������� ���$/�
���
� �
���
�	������ ����2
���D ��� L2{X,A, μ} /����	��	���
	�D ���� ��
� μ 	� ���
�������	� � ��2
	��	�� ����� ������


����� 5��� 7��!� 	 +��!�����	�& ����������	�

-���$ ����� H B +����
���		�� ���$/�
���� �
���
�	�����
��
 � � � � � 	 � �  ������ .�� '
������ x, y ∈ H ��!���%�� �
�����

�������� 	�$�!������� x ⊥ y�� ��
� (x, y) = 0�

��
 � � � � � 	 � �  ����1� ������� {e1, e2, . . .} '
������� ������������
H ��!������ �
������������ ��
� em ⊥ en ��� m �= n� #�
� 
���
���
��
��� ‖en‖ = 1� n = 1, 2, . . .� �� ������� ��!������ �
����
��������

��
 � � � � � 	 � �  ����&� 6��������
��� ������� {e1, e2, . . .} ⊂ H ���
!������ ������� �����

���� 	
���
������ H� ��
� 

 ���
���
x ∈ H ��&������� � ������ �
���������� ��!
������

x =
∞∑
k=1

αkek, ? �����@

�
� αk ∈ C� � ���
������ � 
� ��������� � �
�
�%&�� ����
�1∥∥∥∥∥x−
n∑

k=1

αkek

∥∥∥∥∥→ 0 ��� n→∞.



%��� ,�
��
��(�� �������� �� )�����
��� �
�
 ������� �C3

6�,��9�	�� ? �����@ 	�,
������ 
���� *�
�
 ��� xD � ��K++����	�
 αk

�
�����<��� �� +�
�����

αk = (x, ek), k = 1, 2, . . .

� 	�,
��<��� ��"�����
����� *�
�
�
;, ? �����@ ���9� ������� 
��
����� &�
�
����C

‖x‖2 =
∞∑
k=1

|αk|2,

����
�� �������� �/�/0�	��� ���
��
 -�+���
� 	� /����	��	���
	
� ���2
����

� � � 
 �� �  ������ ����� {en} � ���������
��� ������� '
�������
��
�$������ ������������ H� �
�
�%&�� ������
��� �������
���1

�@ {en} � $�!�� ��
�$������ ������������ H2

�@ 
������ �$�
���� L({en}) ��%
� �
���� � H2

�@ ��
� x ⊥ en 

 ���� n� �� x = 0 �

4 ����	����D ������� {einx/√2π, n ∈ Z} �������� /�,���� �
���
�	����
L2([−π, π],B([−π, π]), λ)D ��� λ B ��
� .�/����


���@� ����+����!��� ����
����	���� 	 +��!�����	�&
����������	�

��
 � � � � � 	 � �  ��� '� #�
� N ⊆ H � ����!��
���� ��
����������
�� ��������
������ x ⊥ N �!������� ��� x ⊥ y 

 ���� y ∈ N �

��
 � � � � � 	 � �  ��� �� #�
� M � !�������� ��
������������� �� ���
�
����������
 ��	���
��
 M⊥ ����
�
 ��� ���

M⊥ = {x ∈ H : x ⊥M}.
4 ���� 	��
�

�	���� �����
	��� �
��,����	��M⊥ �������� ,���	��
�

����
���
�	������
� � � 
 �� �  ������ ����� M � ����!��
���� !�������� ��
���������

���� ��
�$������ ������������ H� (��
� 
%$�� '
����� x ∈ H �����
�
���������� ��!
������ ��
�

x = yx + zx,

�
� yx ∈M � zx ∈M⊥�



�C4 ����� %� $���(�������
� �
��
+����

��
 � � � � � 	 � �  ��� �� +
����� yx� ����
�
����� � �������  ������ ���
!������ �
����������� 	
�
���
� x �� M � �$�!������� πM(x)�

-�
������� ��	��	
� �������� �
������ πM(x)C

�@ yx = πM(x) ∈M D zx = x− πM(x) ∈M⊥E

�@ x ∈M ����� � ���$�� �����D ����� πM(x) = xE

x ∈M⊥ ����� � ���$�� �����D ����� πM(x) = 0 E

�@ ‖x− πM(x)‖ ≤ ‖x− v‖ ��� ���� v ∈M E

 @ ���� {e1, e2, . . .} B /�,�� ���$/�
���� �
���
�	���� HD � M ��������
��	��	�� �/������� ������
 {e1, . . . , en}D �� �� M = L{e1, . . . , en}D ��

πM(x) =
n∑

k=1

αkek,

��� αk = (x, ek) B ��K++����	�
 
�,��9�	�� x � 
�� 8�
$� �� /�,��� {en}�
����� �/
�,��D πM(x) B n2� ������	�� ����� 
��� 8�
$� ��� x�

# �� � � � 	 � � � �������� � �,	�����D ��� πM(x) B 	�����%�� ���
����2
����� ?���	��@ K����	�� x K����	���� �, ����
���
�	���� M D � x − πM(x)

�
���������� ��/�� �%�/�� ���,�		�� ���
���������� 4 ����	����D ����
M = L{e1, . . . , en}D �� πM(x) �������� 	�����%�� ���	��� �
��� ���� ���2
	��D �
��������
� � ���� ��	��	�� ���/�	���� K����	��� {e1, . . . , en}D �� ��
�������� ������!
� ���
���� ��
�����

!���� ����
��	�� ���,�		
� ���
��������� ?� �����$,���	��� �
���2
��� πM@ 	�,
��<� �
����� ����
��!�� ����
�����

$��� -��!��	�(�� ���	���� �� 
����� �����
���
��


� ��� ��������� ������� � �� 	����������

��
 � � � � � 	 � �  ����� ������������ �$A����� {Ω,F ,P}� �
�
Ω � ������������ "�
�
���
��� ������� ω2
F � σ����
�
� 	�����#
��� ������������ Ω� �$��!�%&�� �������

��������� �������2
P � ��
��
������� 	�� �� P{Ω} = 1� �

� �� F �

��!������ �

���������� 	
���
�������� � ���� P � �

����

������� �

�� �
� ������ �

����������



%��� ,�
��
��(�� �������� �� ��

�� ��

���
���� �C�

#�� � � � 	 � � C �� -
������������D ��� {Ω,F ,P} B ���	�� ��
���	���	��
�
���
�	���� ?��� 
�,��  ����@�

�� :�� ������	
�� ��/
����� �, F ��9	� ����
%��$ ��������D �	���2
���	
� ��������� 	�� �	�9�������D ��� ����

� �
 /���� �����$,����$
�����<0�� �/�,	���	��C

A+ B = A ∪B, AB = A ∩B, A \ B, A = Ω \ A,∑
k

Ak =
⋃
k

Ak,
∏
k

Ak =
⋂
k

Ak,

��� ��/
��� A 	�,
������ 	
�����	���#��� A�

4�
���	���$ P{·} �/������ �����<0��� ����������C

�@ 0 ≤ P{A} ≤ 1 ��� �</��� ��/
��� A ∈ F E
�@ P{Ω} = 1D ��� Ω B ������

��
 ������
E

�@ P{∅} = 0D ��� ∅ = Ω B �
�����#��
 ������
E

 @ P{A+B} = P{A}+P{B}D ���� AB = ∅D �� �� ��/
��� A � B �
����
�
����E

"@ P{A+B} = P{A}+P{B} −P{AB} ��� �</
� ��/
��� A,B ∈ F E
)@ P{A} ≤ P{B}D ���� A ⊆ B ?�� �� A B ������� ������ ��/
��� B@�

# �� � � � 	 � � � A��,�		
� �������� �����<� �, �/0�� ������� ��

 ?���

�,��  ����@� ��������  
���
���
�	����� ������	
� �/
�,�� 	� �</�� ��2
	��	�� ��� ����	�� �	�9����� 	��������	
� ��/
���C

P

{ ∞∑
k=1

Ak

}
=

∞∑
k=1

P{Ak} , Ak ∈ F , AmAn = ∅ �
� m �= n.

��
 � � � � � 	 � �  ����� ��$��� A � B ��!���%�� �
�����������
��
� P{AB} = P{A}P{B}� ��$��� {An} �
�������� � ������	���
���� ��
� 

 
%$��� ��������� ��$��� ��$���� Ank

� k = 1, . . . , m

P

{
m∏
k=1

Ank

}
=

m∏
k=1

P{Ank
},

�
� m ����� ���� ��� ∞�



�C� ����� %� $���(�������
� �
��
+����

��
 � � � � � 	 � �  ����� ;������� �

��������� ��$��� A �������
��
��� ��$��� B ������� ��� P{B} > 0� ��!������ ��
�����

P{A | B} = P{AB}
P{B} .

M��� ��/
��� AD B 	�,������
 � ���<� ����9����$	
� ��
���	����D ��
P{A | B} = P{A} � P{B | A} = P{B}�

-���$ ��/
��� H1, . . . , HN ∈ F ���������
�<� ��������C

�@ P{Hk} > 0 �
� ���� kE

/@ HmHn = ∅D ���� m �= nE

�@
N∑
k=1

Hk = ΩD

����� ��� �</��� A ∈ F ��
�������� ��
���� 	����� �

��������C

P{A} =
N∑
k=1

P{Hk}P{A | Hk}.

��/
��� {Hk} �/
�	� 	�,
��<� �

����������� ��	��
�����


� � � ��������� 	������� � 	�
����

��
 � � � � � 	 � �  ��� � ��������� �
������� .�10� ����
�
����� ��
{Ω,F ,P}� ��!������ ���
��� ����"� ξ(ω)� ω ∈ Ω� �!������ �������
��
��� F �

��
�����	��  ��� �,	�����D ��� ��� ������� /�
��������� ����	�9�����
B ⊆ R1 �	�9�����

ξ−1(B) = {ω ∈ Ω : ξ(ω) ∈ B} ? ����@

�������� ������	
� ��/
�����
*���� ��� �
������� /���� �������$ �
����	� ωC ξD {ξ ∈ B} � �� ��
4 ���� ���
�� 
�,��  ��� �����D 
�,	���$D �
��,����	�� � ����	�� ����

������	
� ������	 ?�
� �������D ��� ,	���	����$ 	� �/
�0����� � 	��$@
���9� ����<��� ������	
�� ������	����

��
 � � � � � 	 � �  ���"� .�� �
������� ��
����� ξ � η� !�
����� ��
{Ω,F ,P}� ��!���%�� "������
������� ��
�

P{ξ �= η} = 0.



%��� ,�
��
��(�� �������� �� ��

�� ��

���
���� �C9

M��� 	�����
�� ����
9��	�� ��	������$	� �4 ξ ?��� �������	���� �4@
�
���	�	� ��� ���� ω ∈ Ω \ AD �
���� P{A} = 0D �� ����
��D ��� K�� ����
2
9��	�� �
���	�	� 	���� ���

��
 �� ��
� P ? ��� � �

��������� <@�
!
 /���� ���
���9���$ �����������<0�� ����
9��	�� ,	���� ?P2��	�@� :�2
�
���
D ���� ξ � η K�������	�	
D �� ξ = η ?P2��	�@�

;, ���
��
  ��� �������D ��� ���� ξ B ������	�� ������	�D � g(x)D
x ∈ R

1 B /�
�������� +�	����D �� g(ξ) ���9� �������� ������	�� ������	��D
��� ��� +�	���� η(ω) = g(ξ(ω))D ω ∈ Ω �������� F 2�,��
����� 4 ����	�2
���D �</�� 	��
�

�	�� �
��/
�,���	�� �4 ξ �
������ � �4 η ?�� �� ��������
F 2�,��
������ ���
�	�����@�

��
 � � � � � 	 � �  ���)� ����� ξ � �������� �
������ ��
������ -���
����,�% σ��
��$��� ��
����&�% ��$��� ��
�

ξ−1(B) = {ξ ∈ B}, B ∈ B(R1), ? ����@

$�
�� ��!����� σ����
�
��2 	�
�#�
���� ��������� �
������� ξ�
+�� σ��
��$�� �$�!������� F ξ� � ����� σ{ξ}�

-� ��
�����	�< F ξ ⊆ F � 4����		�� σ2����/
� F ξ ������� �, ���� ���2
���	
� ��/
��� A ∈ F D � 	�������	�� ����

� �
 ��9�� �����$D 	�/�<���
�4 ξ�

� � � 
 �� �  ����� ����� ϕ(x) � ����!��
��� $���
����� ����"� � ���
�
� �9 η = ϕ(ξ)  �
 ��� F ξ��!�������� -��$����� ��
� �������� �9 η
 �
 ��� F ξ��!�������� �� ��&������� $���
����� ����"� ϕ(x) ���� �
��� η = ϕ(ξ)�

��
 � � � � � 	 � �  ����� *���"� Fξ(x) = P{ξ ≤ x}� x ∈ R
1 ��!������ 

������
� 
��	

�
�
��� �9 ξ�

8�	���� 
���
�����	�� Fξ(x) �/������ ����� ���������� +�	���� 
��2
�
�����	�� ��

 	� �,��
���� �
���
�	���� {R1,B(R1)} ?��� ��
�����	��
 ���&D ����
�� ���	���$< �
���	��� � ������ ����	�%�	�� μ(R1) = 1)�

*�� �</�� +�	���� 
���
�����	�� F (x) ��0������� ���	�� ��
���	���2
	�� �
���
�	���� {Ω,F ,P} � ,���		�� 	� 	�� �4 ξ �����D ��� Fξ(x) = F (x)�

6������
�� ��	�
��	
� ���
 +�	���� 
���
�����	���

��
 � � � � � 	 � �  ���1� #�
� �9 ξ ��������� !������ �! ��������� �
�
�������� ��������� {a1, . . . , an, . . .} � ���� ����� �� ��������������

{p1, . . . , pn, . . .}� �
� pn > 0�
∑
n

pn = 1� �� ����� �� ��� �
������ ��
��

����  �
 ��� ����

���� 	�
� ����� ����

���
 
��	

�
�
��
�� #�



�CC ����� %� $���(�������
� �
��
+����

����"� ������
�
��� ����� ��


Fξ(x) =
∑

k: ak≤x
pk, x ∈ R

1.

����� �/
�,��D +�	���� 
���
�����	�� ����
��	�� �4 ����� 
�,

�

��
���� 
��� � ������ akD � ������	
 ������� 
��	
 Fξ(ak)− Fξ(ak−) = pk�
-
� K��� ��� �</��� �	�9����� B ∈ B(R1)

P{ξ ∈ B} =
∑

k: ak∈B
pk.

M��� �	�9����� ,	���	��D ����

� �
�	����� ����
��	�� �4D ��	��	�D ��
�� +�	���� 
���
�����	�� �����	�2������		��

8�	���� �	�9����� Pξ(B) = P{ξ ∈ B} ���������

�� 	� B(R1) � 	�,
2
������ ������� 
��	

�
�
��� �1 ξ� -
� K��� Fξ(x) �������� +�	�����

���
�����	�� K��� ��

 ?��� 
�,��  ����@� -
� ��
�����		
� �������� ��
�
Pξ(B) �/���<�	� 	��
�

�	� ��	������$	� ��

 .�/��� 	� B(R1)D �� �� Fξ(x)
����� ����	���$ 
���
�����	�� pξ(x)�

� � 
 � � � � � 	 � �  ���&� #�
� ����"� ������
�
��� Fξ(x) �
������� ���

����� ξ 
�������� ���
����
����

Fξ(x) =

x∫
−∞

pξ(y)dy, �
� pξ(y) ≥ 0,

∞∫
−∞

pξ(y)dy = 1,

� �������
 ��������� ��� �������
 )�$���� �� �9 ξ ��!������ �����
����� �
	


����� 	����� �
	


����
 
��	

�
�
��
�� .
 
%$���
��������� B ∈ B(R1)

Pξ(B) =

∫
B

pξ(y)dy.

*���"� pξ(y) ��!������ 	��������� 
��	

�
�
��� �9 ξ�

#������D ��� +�	���� Fξ(x) � ��		�� ������ 	� ����� 
�,

��� � �����

��<�� 	� R1 ��++�
�	��
����C
dFξ(x)

dx
= pξ(x)�

4 �/0�� ������ +�	���� 
���
�����	�� Fξ(x) 	��
�

�	� ��
��� � ��92
��� ����� 
�,

�� x ∈ R

1� *�� �
�����	�� ��
���	���� ��/
��� {ξ ∈ B}D
��� B ∈ B(R1)D ������� �
������$ �	���
�� .�/���=�����$���C

P{ξ ∈ B} =
∫
B

dFξ(y) = Pξ(B), B ∈ B(R1).



%��� ,�
��
��(�� �������� �� ��

�� ��

���
���� �C�

-
������9��D ��� �4 ξ1, . . . , ξn ��
�����	
 	� ��	�� ��
���	���	��
�
���
�	���� {Ω,F ,P}� ����� ���
�����		
� 	�/�
 n ������	
� ������	
ξ = {ξ1, . . . , ξn}∗ /���� 	�,
���$ ���

��� ��������� �
���
���

� � 
 � � � � � 	 � �  ����'� -������,�% σ��
��$��� ��
����&�% ��� ��$��
�� ��
�

ξ−1(B) = {ξ ∈ B}, B ∈ B(Rn), ? ����@

$�
�� ��!����� σ����
�
��2 	�
�#�
���� ��������� �
���
�� ξ�
+�� σ��
��$�� �$�!������� σ{ξ} �
� F ξ�

��
 � � � � � 	 � �  ������ *���"� 

Fξ(x1, . . . , xn) = P{(ξ1 ≤ x1) · . . . · (ξn ≤ xn)} , x1, . . . , xn ∈ R
1

��!������ ������
� 
��	

�
�
��� ���

���� ���������� �
����

� ξ�

8�	���� 
���
�����	�� ������	��� �����
� �/������ ����� ����������
+�	���� 
���
�����	�� ��

 	� �,��
���� �
���
�	���� {Rn,B(Rn)} ?���
��
�����	��  �����@D ����
�� ���	���$< �
���	��� � ������ ����	�%�	��
μ(Rn) = 1�

*�� �</��� /�
��������� �	�9����� B ∈ B(Rn) ��
���	���$ ������	���
��/
��� {ξ ∈ B} �
��������� ��� �	���
�� .�/���C

Pξ(B) = P{ξ ∈ B} =
∫
B

dFξ(x1, . . . , xn).

!�
� Pξ(·) 	� B(Rn) B ����� 
��	

�
�
��� ���������� �
���
� ξD ,�2
��		
� � ����0$< Fξ(x1, . . . , xn)� M��� ��
� Pξ(·) ����� ����	���$D �� ��

P{ξ ∈ B} =
∫
B

pξ(y1, . . . , yn)dy1 . . . dyn ∀B ∈ B(Rn),

��

Fξ(x1, . . . , xn) =

x1∫
−∞

. . .

xn∫
−∞

pξ(y1, . . . , yn)dy1 . . . dyn.

��
 � � � � � 	 � �  ������ �
������� ��
����� {ξ1, . . . , ξn} �
��������
� ������	������ ��
� 

 
%$��� ��$��� �������� B1, . . . , Bn ∈ B(R1)
��$��� {ξ1 ∈ B1}, . . . , {ξn ∈ Bn} ��!������� � �������������



��� ����� %� $���(�������
� �
��
+����

�� � 
 �� �  ����� .
 ���� ���$� �
������� ��
����� {ξ1, . . . , ξn} $��

� ��!������� � ������������� ���$��
��� � 
���������� ���$� 

 ����
x1, . . . , xn ∈ R1

Fξ(x1, . . . , xn) =
n∏

k=1

Fξk(xk).

�/0�� �����/ ��
�����	�� 	�,���������� ������	
� ��/
��� � ������	
������� � �����<0��C ����$ F1 ⊆ F � F2 ⊆ F B 	�����

� σ2����/

 ���2
���	
� ��/
���� ����
�� F1 � F2 �
��������D ���� 	�,������
 �</
�
��� ��/
��� A ∈ F1 � B ∈ F2D �� �� P{AB} = P{A}P{B}�

����
$ 	��
��	� ��
������$ ��	���� 	�,���������� �4 ξ � ηC ξ � η 	�,�2
�����
 ����� � ���$�� �����D ����� 	�,������
 σ2����/

 F ξ � Fη� 4 ����2
	����D �4 ξ 	� ,������ �� ������	��� ��/
��� AD ���� A � F ξ 	�,������

?�� �� 	�,������
 A � �</�� B ∈ F ξ@� 5�� ��	���� /���� �����$,���	
 �
���$	��%�� �
� ����
��	�� �����	��� ��������������� �9���	���

4 �/0�� ������ ������	�� ������	� ξ ��9�� �
�	����$ ���	�
����

����
���D �� �� ξ = α+ iβD ��� αD β B �4D ,���		
� 	� {Ω,F ,P}D � i2 = −1�
;,���	�� ��������	�� �4 +��������� �������� � �,���	�< �����
	��� ���2
���	��� �����
� {α, β}∗�

-
������ �
���

 	�����

� 	��/���� ��9	
� ,���	�� 
���
�����	���

�� *���
��	�� �4 ξ ����� �����������
 
��	

�
�
��
 � ��
����
�2
�� (N ; p)D ��� 0 < p < 1D � �/�,	������� Bi(N ; p)D ����

P{ξ = m} = Cm
N p

mqN−m, m = 0, 1, . . . , N,

��� Cm
N =

N !

m!(N −m)!
B ����� ������	�� �,N ��mD q = 1−p� 6���
�����	��

Bi(1; p) 	�,
������ 
��	

�
�
��
� 9

������

�� *���
��	�� �4 ξ ����� 
��	

�
�
��
 &������� � ��
����
��
λ > 0D � �/�,	������� Π(λ)D ����

P{ξ = m} = λm

m!
e−λ, m = 0, 1, . . .

�� :��
�

�	�� �4 ξ ����� 
�����

��
 
��	

�
�
��
 	� ��
�,��
[a, b]D � �/�,	������� R(a, b)D ���� �� ����	���$ 
���
�����	�� ����� ���

pξ(x) =

{
1/(b− a), ���� x ∈ [a, b],

0, ���� x /∈ [a, b].



%��� ,�
��
��(�� �������� �� ��

�� ��

���
���� ���

 � :��
�

�	�� �4 ξ ����� "��	��
��������
 ?��� 	������
����
@

��	

�
�
��
 � ��
����
�� λ > 0D � �/�,	������� E(λ)D ����

pξ(x) =

{
λe−λx, x ≥ 0,

0, x < 0.

"� :��
�

�	�� �4 ξ ����� ����������
 ?��� ��
������
@ 
��	

�
�
�
��
 � ��
����
��� (m; σ2)D ��� σ > 0D ����

pξ(x) =
1√
2πσ

exp

{
−(x−m)2

2σ2

}
, x ∈ R

1.

*�� ������������ 
���
�����	�� �����$,����� �/�,	���	�� N (m; σ2)�

L�����
� ��
����
������ K��� 
���
�����	�� �
�����	
 � �����<0��

�,�����


� �#� %���&������
�� �'������

��
 � � � � � 	 � �  ������ %��
�����
���� �#�����
� 	�
� �

��
���� �9 ξ� ����
�
����� �� {Ω,F ,P}� ��!������ ���
�

M{ξ} = mξ =

∫
Ω

ξ(ω)P{dω} . ? ��� @

!������������� �9���	�� ��
�����	�D ���� �	���
�� .�/��� � �
���� ��2
��� 
���	���� ? ��� @ ��0��������

����� �/
�,��D �������������� �9���	�� �4 ξ ���$ �	���
�� .�/��� ��
+�	���� ξ(ω) 	� Ω �� ��
���	���	�� ��
� P� M��� Pξ(·) B ,���	 
���
���2
��	�� �4 ξ 	� B(R1)D � Fξ(y) B �����������<0�� +�	���� 
���
�����	��D
�� M{ξ} ��9	� �
������$ �����<0�� �/
�,��C

M{ξ} =
∫
R1

yPξ(dy) =

∞∫
−∞

y dFξ(y), ? ���"@

�
���� ��
�
� �	���
�� ��	������� ��� �	���
�� .�/��� �� ��
� Pξ(·)D �
���
�� B ��� �	���
�� .�/���=�����$���� ��0�������	�� �	���
���� � �
�2
��� ����� ? ���"@ �
������ �, ��0�������	�� ��������������� �9���	��D �D
	��/�
��D �, ��0�������	�� �	���
���� ������� ��0�������	�� ����������2
����� �9���	��� 8�
���� ? ���"@ ������� �, ? ��� @ � ���
��
  ����" � ,���	�
��
���		�� � �	���
��� .�/����



��� ����� %� $���(�������
� �
��
+����

M��� +�	���� 
���
�����	�� Fξ(x) �������� ���/�	����� �/���<�	�2
	��
�

�	�� � ����
��	�� ��������<0��D �� �� ��������� �
��������	�� ����

Fξ(x) =

x∫
−∞

pξ(y)dy +
∑

k: ak≤x
pkD ��� pξ(y) ≥ 0D � pk > 0 B ������	� ������ �

����� 
�,

�� akD �� ? ���"@ �
�	����� ���

M{ξ} =
∞∫

−∞
ypξ(y)dy +

∑
k

pkak.

�4 ξ 	�,
������ �
��
�
�������D ���� M{ξ} = 0�
��	��	
� �������� ��������������� �9���	�� �
����<� �, ������� �	2

���
��� .�/��� ?��� 
�,��  ���"@�

�� !������������� �9���	�� M{ξ} � M{|ξ|} ��0�����<� ��� 	� ��0�2
����<� ��	��
���		�D �
���� |M{ξ} | ≤M{|ξ|}�

�� M{IA} =
∫
Ω

IA(ω)P{dω} = P{A}D ��� IA B �	������
 ��/
��� A ∈ F �

�� M��� M{ξ} ��0�������D �� ��� �</�� ��	���	�
 λ

M{λξ} = λM{ξ} .
 � M��� M{ξ} � M{η} ��0�����<�D ��

M{ξ + η} = M{ξ}+M{η} .
"� M��� ξ ≤ ηD �� M{ξ} ≤M{η}�
)� M��� ϕ(x) B /�
�������� +�	����D ��

M{ϕ(ξ)} =
∞∫

−∞
ϕ(x)dFξ(x),

��� �������������� �9���	�� � �	���
�� ��0�����<� ��� 	� ��0�����<�
��	��
���		��

�� M��� M{ξ} ��
�����	�D �� ��� ��9���� A ∈ F ��0�������

M{ξIA} =
∫
A

ξ(ω)P(dω).



%��� ,�
��
��(�� �������� �� ��

�� ��

���
���� ��3

1� M��� ξ ≥ 0 ?P2��	�@D � ���9� M{ξ} < ∞D �� +�	���� �	�9�����
Q{A} = M{ξIA}D A ∈ F �������� ��	��	�� ��
�� 	� F �

&� M��� ξ ≥ 0 ?P2��	�@D M{ξ} <∞ � ε > 0D ��

P{ξ ≥ ε} ≤ M{ξ}
ε

.

�'� M��� M{|ξ|p} <∞D p > 0D �� �
���	����� �

��
����� %�
����

P{|ξ| ≥ ε} ≤ M{|ξ|p}
εp

.

��
 � � � � � 	 � �  ���� � 7��	

��
� D{ξ} �9 ξ ��!������ ���
�

D{ξ} = Dξ = M
{|ξ −mξ|2

}
=

∞∫
−∞
|y −mξ|2dFξ(y).

;, ��
�����	�� � ������� �	���
��� .�/��� �������C

�@ D{ξ} ≥ 0E

�@ D{aξ + b} = |a|2D{ξ}D ���� a, b = constE

�@ D

{
n∑

k=1

ξk

}
=

n∑
k=1

D{ξk}D ���� D{ξk} <∞D � �4 {ξk} B 	�,������
 �

�������	����E

 @ D{ξ} = M
{|ξ|2}− |mξ|2E

"@ ���� M
{|ξ|2} <∞D �� �
���	�	� �

��
����� )
��!
��

P{|ξ −mξ| ≥ ε} ≤ D{ξ}
ε2

.

��
 � � � � � 	 � �  ����"� '���
����
� �9 ξ � η ��!������ ��
�����

cov{ξ, η} = M
{
(ξ −mξ)(η −mη)

}
,

�
� (·) � !��� ����
������� ���� ���� �

-�
������� ��9	��%�� �������� ����
�����C

�@ ���� M
{|ξ|2} < ∞D M

{|η|2} < ∞D �� ����
����� �4 ξD η ��0�������
� ���������
��� �

��
����� '�!�(9�����������C

|cov{ξ, η} |2 ≤ D{ξ}D{η} ;



��4 ����� %� $���(�������
� �
��
+����

�@ ���� M{ξ} = M{η} = 0D �� cov{ξ, η} = (ξ, η) B �����
	�� �
��,����2
	�� ������	
� ������	 ξ, ηE

�@ ���� ξ � η 	�,������
D �� cov{ξ, η} = 0E

 @ D{ξ} = cov{ξ, ξ}E
"@ D{ξ + η} = D{ξ}+D{η}+ 2 cov{ξ, η}�
M��� cov{ξ, η} = 0D �� �4 ξ � η 	�,
��<��� �
��


��
�������� ���

�
������������D ��� �/�,	������� ξ ⊥ η�
-
������ ������
� ��
����
������ ?�� �� �������������� �9���	�� �

�����
���@ ������	
� ������	D 
������
�		
� � ��	�� 
�,��  ����C

�@ /�	�����$	�� 
���
�����	�� � ��
����
��� (N ; p)C

mξ = Np, Dξ = Npq;

�@ 
���
�����	�� -�����	� � ��
����
�� λ > 0 C

mξ = Dξ = λ;

�@ 
��	���
	�� 
���
�����	�� 	� ��
�,�� [a, b]C

mξ =
a+ b

2
, Dξ =

(b− a)2
12

;

 @ K����	�	����$	�� 
���
�����	�� � ��
����
�� λ > 0C

mξ =
1

λ
, Dξ =

1

λ2
;

"@ ����������� 
���
�����	�� � ��
����
��� (m; σ2)D σ > 0C

mξ = m, Dξ = σ2.


� �
� �������	����!����� ��������� 	������

>���� ����� �
���������$D ��� ������	
� ������	
 {ξn, n = 1, 2, . . .}
,���	
 	� ��	�� � ��� 9� ��
���	���	�� �
���
�	���� {Ω,F ,P}�

� � 
 � � � � � 	 � �  ����)� ���
�
�����
������ �
������� ��
���� {ξn}
��!������ ������
��� 	���� ���

��
 ?P2��	�@ � �9 ξ� ��
�

P{ω ∈ Ω : lim
n→∞ ξn(ω) = ξ(ω)} = 1.



%��� ,�
��
��(�� �������� �� ��

�� ��

���
���� ���

4 K��� ������ �����$,�<��� �/�,	���	��C ξn → ξ ?P2��	�@ ��� ξn
����−−→ ξD

n→∞D � ���9� ����
��D ��� ξn �������� � ξ � �

��������� <�
�����<0�� 
�,��$���
 �
����<� �, ���
�� � �
����$	�� ��
����� ���

,	���� �	���
��� .�/��� � ,���<� �
����� �
����$	��� ��
����� ��� ,	����
��������������� �9���	���

� � � 
 �� �  ����� #�
� ���
�
�����
������ {ξn} ���
��� � ξ ?P2��	�@ �
���
��� �9 η ���� � ��� |ξn| ≤ η ?P2��	�@ 

 �� ���� n � M{η} <∞� ��

M{|ξ|} <∞, M{ξn} →M{ξ}
�

M{|ξn − ξ|} → 0 ��� n→∞.
�� � 
 �� �  ��� � ����� η, ξ1, ξ2, . . . � �
������� ��
������

�� #�
� ξn ≥ η 

 ���� n ≥ 1� �
� M{η} > −∞� � ξn ↑ ξ ?P2��	�@� ��
M{ξn} ↑M{ξ} ��� n→∞�

�� #�
� ξn ≤ η 

 ���� n ≥ 1� �
� M{η} < ∞� � ξn ↓ ξ ?P2��	�@� ��
M{ξn} ↓M{ξ} ��� n→∞�

�� � 
 �� �  ���"� #�
� ���
�
�����
������ {ξn} ������"���
���� �
��
������ ��
���� ���
��� ?P2��	�@ � �9 ξ� ������ ��&������� ���� ����
������ K < ∞� ��� M{ξn} ≤ K 

 ���� n� (��
� M{ξ} ��&������� �
M{ξ} ≤ K�

��
 � � � � � 	 � �  ������ ���
�
�����
������ �
������� ��
���� {ξn}
��!������ ������
��� 	� �

�������� � �9 ξ� ��
� 

 
%$��� ε > 0

lim
n→∞P{|ξn − ξ| > ε} = 0.

�� � 
 �� �  ���)� < 
%$�� ���
�
�����
������ �
������� ��
����
{ξn, n = 1, 2, . . .}� ���
 &��� �� ���� ������ � ξ� ���
��� ��
���
�
��

����
������ {ξnk
} ���� � ��� ξnk

����−−→ ξ ��� k →∞�

��
 � � � � � 	 � �  ����1� ���
�
�����
������ �
������� ��
���� {ξn}
��!������ ������
�������� 	� �

��������� ��
� 

 
%$��� ε > 0

lim
n,m→∞P{|ξn − ξm| > ε} = 0.

�� � 
 �� �  ����� .
 ���
������ ���
�
�����
������ {ξn} �� ���� ��
����� ���$��
��� � 
���������� ���$� ���
�
�����
������ $�
� ���
��
�����
�����
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7	������	
� �
���
�� ��0������� � ��� ���������� ?P2��	�@�

� � � 
 �� �  ���1� .
 ���
������ ���
�
�����
������ {ξn} ?P2��	�@
���$��
��� � 
���������� ���$� ���
�
�����
������ $�
� ������
��
������� ?P2��	�@� �� �� 

 
%$��� ε > 0

lim
n→∞P

{
sup
k≥0
|ξn+k − ξn| > ε

}
= 0.

��
 � � � � � 	 � �  ����&� ���
�
�����
������ �
������� ��
���� {ξn}
��!������ ������
��� � �

��
� 	�
���� p > 0 � �9 ξ� ��
�

lim
n→∞M{|ξn − ξ|p} = 0.

-
� p = 2 K��� ��� ���������� 	�,
������ ���������$< � �

��
� �����

����
���� ?��� �/�/������������@ � �/�,	������� ξ = l.i.m.

n→∞ ξn ���

ξn
#���−−→ ξD n → ∞� �
��	�����
��������� ���������$ ����� ���/�� ,	���2

	�� � ���
�� ������	
� �
��������
-
������ ��9	��%�� �������� ����2�����������

�� '
��

�� '�!�/ *�� ���� ���/
 ��0�������� ����2�
���� ξ �����2
�������$	���� �4 {ξn} �
� n → ∞D 	��/������ � ��������	�D ���/
 {ξn}
/
�� +�	����	���$	�� � ����2��
���C

M
{|ξn − ξm|2}→ 0 �
� n,m→∞.

�� -���$ ξn
#���−−→ ξD n→∞D �
���� M

{|ξn|2} <∞D ����� M
{|ξ|2} <∞ �

lim
n→∞M{ξn} = M

{
l.i.m.
n→∞ ξn

}
= M{ξ} ;

lim
n→∞M

{|ξn|2} = M
{
| l.i.m.
n→∞ ξn|2

}
= M

{|ξ|2} .
�� M��� ������������$	���� �4 {ξn}D {ηn} �����
D ��� M

{|ξn|2} < ∞D

M
{|ηn|2} <∞ � ξn

#���−−→ ξD ηn
#���−−→ η �
� n→∞D ��

M{ξnηn} →M{ξη} �
� n→∞.

 �  
���  �"��/ -�����������$	���$ �4 {ξn} ����� ����2�
���� ��2
��� � ���$�� �����D ����� ��0������� 	���
������$	�� ����� c �����D ���
M
{
ξnξm

}→ c �
� n,m→∞� -
� K��� c = M
{|ξ|2}D ��� ξ = l.i.m.

n→∞ ξn�



%��� ,�
��
��(�� �������� �� ��

�� ��
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:��/���� ���/
� ��� ���������� B ���������$ ������������$	���� ��

���
�����	�<�

��
 � � � � � 	 � �  ����'� ���
�
�����
������ {ξn, n = 1, 2, . . .} �
�����
��� ��
���� ��!������ ������
��� 	� 
��	

�
�
��� 	�
� ����� ����
�������� � �9 ξ� ��
� 

 
%$�� ���������� ������������ �����������
����"�� f(x)� x ∈ R1

lim
n→∞M{f(ξn)} = M{f(ξ)} .

����	�%�	�� ��9�� ����� ������ ���������� ����
��<��� ���
�����

� � � 
 �� �  ���&� ������

��� �
�
�%&�� ������
��� 1

�� B���
������ ?P2��	�@C =⇒ B���
������ �� ���� ������C�

�� B���
������ � ���
��� ��� 
�� p > 0C =⇒ B���
������ �� ���� ��
�����C�

�� B���
������ �� ���� ������C =⇒ B���
������ �� ������
�
���%C�

 � #�
� ξn �
�$� ���
��� � ��������� a� �� ξn ���
��� � a � �� �����
 �������


� �"� A���	��� &���&������
�� �'������

-���$ {Ω,F ,P} B ,���		�� ��
���	���	�� �
���
�	����D G B 	�����
��
σ2����/
� ������	
� ��/
���D �� �� G ⊆ F D � ξ B �4 �����D ��� M{|ξ|} <∞�

� � 
 � � � � � 	 � �  ������ ;������� ���
�����
���� �#�����
�

�1 ξ �������
���� G ��!������ �
������ ��
������ �$�!������� 
M{ξ | G} � �
��
����� %&� �
�
�%&�� ��
��� �1

�@ M{ξ | G}  �
 ��� G��!�������2
�@ 

 
%$��� ��������� A ∈ G ����
� ��� ���������∫

A

ξ(ω)P{dω} =
∫
A

M{ξ | G} (ω)P{dω} . ? ���)@

� � � 
 �� �  ����'� <�
����� �������������� ���
���� �9 ξ ����
�
���
�
���������� �$��!�� ?P2��	�@�



��C ����� %� $���(�������
� �
��
+����

�	����	� ����	��+� &���&������
�+� �'�������

�����<0�� �������� �����	��� ��������������� �9���	�� 	����
��2
����		� �
����<� �, ��
�����	��  ������

�� M��� ξ = C = const ?P2��	�@D �� M{ξ | G} = C ?P2��	�@�

�� M��� ξ ≤ η ?P2��	�@D �� M{ξ | G} ≤M{η | G} ?P2��	�@�

�� |M{ξ | G} | ≤M{|ξ| | G} ?P2��	�@�

 � M��� a, b B ��	���	�
D � ξ, η B ������	
� ������	
 �����D ���
M{|ξ|} <∞D M{|η|} <∞D ��

M{aξ + bη | G} = aM{ξ | G}+ bM{η | G} ?P2��	�@.

"� -���$ G = {∅,Ω} B �
�����$	�� σ2����/
�D �����

M{ξ | G} = M{ξ} ?P2��	�@.

)� -���$ �4 ξ �,��
��� ��	������$	� GD ����� M{ξ | G} = ξ ?P2��	�@�

�� M{M{ξ | G}} = M{ξ} ?P2��	�@�

1� M��� G1 ⊆ G2D ��
M{M{ξ | G2} | G1} = M{ξ | G1} ?P2��	�@.

&� M��� G2 ⊆ G1D ��
M{M{ξ | G2} | G1} = M{ξ | G2} ?P2��	�@.

�'� M��� �4 ξ 	� ,������ �� G ?�� �� F ξ 	� ,������ �� G@D ��
M{ξ | G} = M{ξ} ?P2��	�@.

��� -���$ η �,��
��� ��	������$	� G � M{|ξη|} <∞D �����

M{ξη | G} = ηM{ξ | G} ?P2��	�@.

��� -

��
����� 8
��
��/ -���$ g(x) B �
������ �	�, +�	���� ��2
���D ��� M{|g(x)|} <∞D �����

g (M{ξ | G}) ≤M{g(ξ) | G} ?P2��	�@.



%��� ,�
��
��(�� �������� �� ��

�� ��

���
���� ���

��� -���$ η B �
��,���$	�� G2�,��
���� ������	�� ������	�� M���
M
{|ξ|2} <∞D M

{|η|2} <∞D ��

M
{|ξ −M{ξ | G} |2} ≤M

{|ξ − η|2} ?P2��	�@.

��
 � � � � � 	 � �  ������ �
������ ��
����� M{ξ | Fη} = M{ξ | η}� �
�
Fη = σ{η}� ��!������ �������� ���
�����
���� �#�����
� �1
ξ �������
���� �1 η ∈ Rn�

�� � 
 �� �  ������ ��&������� $���
����� ����"� g(x)� x ∈ R
n ���

�� � ��� M{ξ | η} = g(η) ?P2��	�@�
-���$ ξ B ���	������� �4 �� 	�/�<��	���D �/
�,�<0�� ������	
� ���2

��
 η ∈ RnD � g(x)D x ∈ Rn B /�
�������� +�	����� ����� /���� ����
��$D
��� ξ̃ = g(η) B ���������� ���	�� ��� ξ �� 	�/�<��	��� η�

� � 
 � � � � � 	 � �  ������ .�������� �"���� ξ̂ = ĝ(η) ��!������ 
�/�/��	��������� ��
���� 

 ξ �� ��$
%
��� � η� ��
� 

 
%$�� 
��
�������� �"���� ξ̃ = g(η) ����
����

M
{
|ξ − ξ̂|2

}
≤M

{
|ξ − ξ̃|2

}
.

�� � 
 �� �  ������ ����� M
{|ξ|2} <∞� ���
� �����������
��� �"����

����� ��

ξ̂ = M{ξ | η} ?P2��	�@.

#�� � � � 	 � � � -
������9�	�� � ���D ��� g(x) B /�
�������� +�	����D
�,	�����D ��� ξ̃ = g(η) B ������	�� ������	�� A���
9��	�� ���
��
  �����
����� ��9	�� �
���������� ,	���	��D ��� ��� �
 �������� �/0�� ����
���
����
��	�� ����2�������$	�� ���	�� ξ̂ ��� �4 ξ �� 	�/�<��	��� η�

� � 
 � � � � � 	 � �  ���� � ����� A ∈ F � P{A} > 0� ;������� ���
�
�����
���� �#�����
� �9 ξ �������
���� ���������� �������
A ��!������ �9

M{ξ | A} = M{ξIA}
P{A} =

1

P{A}
∫
A

ξ(ω)P(dω). ? ����@

-���$ ��/
��� H1, . . . , HN �/
�,�<� ������� ��
���	���	
� ������, ?���

�,��  ����@� M��� M{ξ} ��0�������D �� ��� ��9	� �
������$ �� +�
����
	������ ���
�����
����� �#������C

M{ξ} =
n∑

k=1

P{Hk}M{ξ | Hk} ,



3�� ����� %� $���(�������
� �
��
+����

��� M{ξ | Hk} �
��������� �� +�
���� ? ����@�
4 ,���<��	�� 
�,���� 
������
�� �
���������� �����/ �
�����	��

+�	���� M{ξ | η = y} = ĝ(y)D y ∈ R
nD ��� ξ ∈ R

mD η ∈ R
n� -���$ ��0�����2

�� �������	�� ����	���$ 
���
�����	�� pξ,η(x, y) ������	
� �����
�� ξ � η�
�����

ĝ(y) =

∫
Rm

x pξ|η(x | y) dx, ? ���1@

��� pξ|η(x | y) = pξ,η(x, y)/pη(y) B �������� 	�������� �1 ξ 	
� �����

���2 ��� η = yD pη(y) =
∫
Rn

pξ,η(x, y)dy B n2��
	�� ����	���$ �4 ηD �
����

pη(y) �= 0� M��� 9� pη(y) = 0D �� ������<�D ��� pξ|η(x | y) = 0� 8�
���� ? ���1@

��,������ �
������$ 
����,���< ���	�� ξ̂ = ĝ(η) �
� �������D ��� �������

����,���� y ∈ Rn ������	��� �����
� 	�/�<��	�� η ∈ Rn�


� �1� ������	�
�� ��������� 	������� � 	�
����

��
 � � � � � 	 � �  ����"� *���"� 

Φ(x) =
1√
2π

x∫
−∞

e−y
2/2dy, x ∈ R

1

��!������ ���
�
���� �

�������
� �
� ������
�  �	�����

��
 � � � � � 	 � �  ����)� �
������ ��
����� ξ ∈ R1 ��!������ �����
������� �
� ��
������� � ����������� (m; σ2)� �
� σ > 0� ��
�

Fξ(x) = P{ξ ≤ x} = Φ

(
x−m
σ

)
. ? ���&@

��� ��� +�	���� .������ Φ(x) 	��
�

�	� ��++�
�	��
���� 	� R1D 
��2
�
�����	�� Fξ(x) ����������� �4 ����� ����	���$

pξ(x) =
1√
2πσ

exp

{
−(x−m)2

2σ2

}
, σ > 0.

;, ��
�����	��  ����) �������D ���

M{ξ} = m, D{ξ} = σ2.



%��� ,�
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���� 3��

*�� �/�,	���	�� ����������� �4 /���� �����$ ξ ∼ N (m; σ2)� 4�
���2
	���$ ������	�� ξ � �
��,���$	
� �	��
��� (α, β) ⊆ R1 ��9	� �
������$
�� �����<0�� �,����	�� +�
����C

P{α < ξ < β} = Φ

(
β −m
σ

)
− Φ

(
α−m
σ

)
.

#�� � � � 	 � � � �������� ����������� 
���
�����	�� ���
�	����� �
� ��2
	��	�� �
��/
�,���	�� �4 ξ� -���$ ξ ∼ N (mξ;Dξ)D � η = αξ + βD ���
α, β ∈ R1D ����� η ∼ N (mη;Dη)D ��� mη = αmξ + βE Dη = α2Dξ�

*�� �����	�� ������������ ���������� �
���
� ?�� �� ���
�����		��
������
 ����������� �4@ ���/	� ������$,����$�� ����
���� ��
����
����2
������ +�	�����

-���$ ξ = {ξ1, . . . , ξn}∗ B ��0�����		
� ������	
� �����
 � ������2
�������� �9���	��� mξ = {mξ1, . . . , mξn}∗ � ����
�����		�� ���
����
Rξ = {cov{ξi, ξj}}i,j=1,...n� -���$ ���9� x = {x1, . . . , xn}∗ ∈ RnD Fξ(x) B n2
��
	�� +�	���� 
���
�����	�� �4 ξD � i B �	���� ���	���D �� �� i2 = −1�

� � 
 � � � � � 	 � �  ������ 0���
����� ����"� Ψξ(λ)� λ ∈ R
n

Ψξ(λ) = M
{
eiλ

∗ξ} =

∫
Rn

eiλ
∗xdFξ(x),

��!������ ��
���

�����
���� ������
� ������
�
��� Fξ(x)�

�� � 
 �� �  ������ ?���������������� ����"� �
��!����� ����
�
 ��
����"�% ������
�
��� � �� �� ��
� �9 ξ � �9 η ���%� �
�� �������������
�����% ����"�% Ψξ(λ) = Ψη(λ)� λ ∈ Rn� �� Fξ(x) = Fη(x)� x ∈ Rn�

����
$ �
 ��9�� ������ ��	���� ������������ ���������� �
���
��

� � 
 � � � � � 	 � �  ����1� �
������� ������ ξ ∈ R
n ����� ���

��


����������
 
��	

�
�
��
 � ����������� (mξ;Rξ)� ��
� ��� ����������
�������� ����"� ����� ��


Ψξ(λ) = exp

{
iλ∗mξ −

1

2
λ∗Rξλ

}
, λ ∈ R

n,

�
� mξ � �������������� ���
����� � Rξ � �������"����� �����"��

#�� � � � 	 � � C �� :��
��	� �
���
��$D ��� �</�� �����	�	�� ξk �������2
����� �����
� ξ ����� 
���
�����	�� N (mk;Dk)D ��� mk B k2� K����	� ���2
��
� mξD � Dk B k2� �����	��$	
� K����	� ���
��
 Rξ�



3�� ����� %� $���(�������
� �
��
+����

�� M��� ���
��� Rξ > 0 ?�� �� ����9����$	� ��
�����	�@D �� Fξ(x) �����
����	���$ 
���
�����	��

pξ(x) = (2π)−n/2(det[Rξ])
−1/2 exp

{
−1
2
(x−mξ)

∗R−1ξ (x−mξ)

}
, x ∈ R

n,

��� det[Rξ] > 0 B ��
��������$ ���
��
 Rξ�

(���������� �����

 �/����<� ��
��� ,��������$	
� �������D ��9	��%��
�, ����

� ��
������	
 	�9��

�� M��� cov{ξ, η} = M{ξη∗} −mξm
∗
η = 0D � �����
 γ = {ξ∗, η∗}∗ B ����2

�������D �� ξ � η B 	�,������
�

�� -���$ ξ ∼ N (mξ;Rξ)D � η = Aξ + bD ��� A ∈ R
m×nD b ∈ R

nD �����
η ∼ N (mη;Rη)D ���

mη = Amξ + b; Rη = ARξA
∗.

�� -���$ {ξn} B ������������$	���$ ����������� ������	
� �����
���
M��� ξn

#���−−→ ξD n → ∞D �� ξ ∼ N (mξ;Rξ)D ��� mξ = lim
n→∞M{ξm}D �

Rξ = lim
n→∞ cov{ξn, ξn}D �
���� ���,�		
� �
����
 ��0�����<� � ��	��	
�

 � M��� {ξn} B ������������$	���$ ����������� �4 � ξn
����−−→ ξD n → ∞D

�� ξn
#���−−→ ξD n→∞ ?� �/0�� ������ K�� 	� ��
	�V@�

"� � � � 
 �� �  ���� ?� 	�
���$	�� ��

������@� ����� γ = {ξ∗, η∗}∗ �
����������� ������ ������ ��� Rη > 0� ���
�

�@ ��
����� �������������� ���
���� ����� ��


ξ̂ = M{ξ | η} = mξ +RξηR
−1
η (η −mη); ? ����'@

/@ ξ ⊥ ξ − ξ̂� �� �� ξ � ξ − ξ̂ � ��!�������2

�@ ����� Δξ = ξ − ξ̂� ���
�

M{Δξ} = 0, cov{Δξ,Δξ} = Rξ − RξηR
−1
η R∗ξη;

�@ ��
����� �������������� ���
���� ξ̂ ����� ����������� ������
�
��
��� � ����������� (mξ;RξηR

−1
η R∗ξη)� �
�

Rξ = cov{ξ, ξ} , Rξη = cov{ξ, η} , Rη = cov{η, η} .
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#�� � � � 	 � � � ���
��� � 	�
���$	�� ��

������ ���� ��	
� ��� ? ����'@
����2�������$	�� ���	�� ξ̂ = M{ξ | η} ��� ξ �� 	�/�<��	��� η � �����������
������� #������D ��� ξ̂ ���
��� ,������ �� η�

)� M��� {γ, ξ, η} ��������<� ����������� �����
D � ξ � η B 	���

���
�2
��		
�D ��

M{γ | ξ, η} = M{γ | ξ}+M{γ | η} −mγ.

�� M��� �����	�	�
 �����
� ξ = {ξ1, . . . , ξn}∗ B ����������� � 	�,�����2
�
� � �������	����D �� ξ B ����������� ������	
� �����
�


� ��� ���!�����	� ����������	� ��������� 	������
� 
������& 	����& &�&����&

*�� ��
���	���	
� �
���9�	�� 	��/���� ��9	
� �������� �
���
�	2
���� H ������	
� ������	 ξD ��
�����		
� 	� ��	�� � ��� 9� ��
���	���2
	�� �
���
�	���� {Ω,F ,P}D ��	�
�
���		
� � ���<0�� ��	��	
� ���
��
����	�C

M{ξ} = 0 �
∫
Ω

|ξ(ω)|2P(dω) = M
{|ξ|2} <∞.

M��� ξ, η ∈ HD �� ����9��

(ξ, η) = M{ξη} = cov{ξ, η} .
M��� ξ, η, ζ ∈ HD �� ��
�������
 �����<0�� �������� ���
���� (·, ·)C
�@ (ξ, ξ) ≥ 0E ���� (ξ, ξ) = 0D �� ξ = 0 ?P2��	�@E

�@ (aξ + bη, ζ) = a(ξ, ζ) + b(η, ζ) ��� �</
� a, b ∈ CE

�@ (η, ξ) = (ξ, η)�

��� ���
� (·, ·) �������� �����
��� 	
����
�
��
� � ��
�������
��
�� � �
���
�	���� HC

‖ξ‖ = (ξ, ξ)1/2.

M��� ξn → ξD n → ∞ � HD �� K�� �,	�����D ��� M
{|ξn − ξ|2} → 0� �����

�/
�,��D ���������$ � H �,	����� ����2���������$� 4 ���� ������� ����2�����2
����� ,���<����D ��� ���� {ξn} +�	����	���$	�D �� �	� �������� � 	�����2

�� �4 ξD �
���� ‖ξ‖2 = M

{|ξ|2} <∞D �� �� ξ ∈ H� -�����	�� �,	�����D ���



3�4 ����� %� $���(�������
� �
��
+����

H B �
���
�	���� �� �����
	
� �
��,����	���D ���	�� ��	������$	� �����2
����� �� 	�
��D ��
�9��		�� K��� �
��,����	���� ;���DH B �����

����
	
���
�������

M��� ξ, η ∈ H � (ξ, η) = 0D �� K�� �4 	�,
��<��� �
������������D
��� �/�,	������� ��� ξ ⊥ η� -�	���� �
����	��$	���� ��
��� ��9	�< 
��$
� ,������ ���	���	�� ������	
� ������	�

-���$ ξ, η1, . . . ηn ∈ H� -
������9��D �
 ����� ���	��$ ������	�< ��2
����	� ξ �� 	�/�<��	��� {η1, . . . , ηn}� ��� ������� �, ���
��
  �����D �����
���	��� �������� M{ξ | η1, . . . , ηn}� ��	��� �
�����	�� �����	��� ��������2
������� �9���	�� �
�/��� ,	�	�� �������	��� ,���	� 
���
�����	�� ���� �4
{ξ, η1, . . . , ηn}D ��� �����$	� 
���� �
���	����� 	� �
������� M��� ������	��
�	+�
����� ��
�	���	� ��%$ ��
�
�� ����� ����	���� �������	��� 
��2
�
�����	�� � �	� 	� �������� �����������D �� ��9	� ��
������$ �������
!�� � �

��
����
����
���� �����
 ���
���� ��
��� ��� ξD �� ��
�/�/��	��������� ���
���� ��
����

� � 
 � � � � � 	 � �  ����&� �
������ ��
�����

ξ̂ = l̂(η1, . . . , ηn) =
n∑

k=1

akηk

��!������ �/�/��	��������� ���
���� ��
���� 

 ξ �� ��$
%
��� �
{η1, . . . , ηn}� ��
� 

 
%$�� 
������� ����"�� l(y1, . . . , yn) ����� �����
�����������

M
{
|ξ − ξ̂|2

}
≤M

{|ξ − l(η1, . . . , ηn)|2} .
�� � 
 �� �  ����"� ����� ξ, η ∈ H � �����"� Rη = cov{η, η} ��
����

��
��� ����
�
���� (��
� �����������
��� 
������ �"���� ξ̂ �����
 ��� 
�� �����
�

ξ̂ = RξηR
−1
η η, ? �����@

�
� Rξη = cov{ξ, η}� ��� '���

‖ξ − ξ̂‖2 = M
{
|ξ − ξ̂|2

}
= Dξ − RξηR

−1
η R∗ξη. ? �����@

# �� � � � 	 � � C �� 8�
���
 ? �����@D ? �����@ ���	���	
 +�
����� ���
�2
�
 � 	�
���$	�� ��

������D ��� 	� ������	�� *���������$	�D ��� �</��
��	��	�� �������	���� ������	
� ������	 �, H ��0������� ��������� ����2
������� ������	
� ������	D ���<0�� �� 9� ����	�
 ��
���� � ���
��� ��2

����� *�� K��� ����������� ������	 ����2�������$	�� ���	�� ��� ξ ���$
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��(�� �������� �� ��

�� ��

���
���� 3��

�����	�� �������������� �9���	��D ����
�� �� ���
��� � 	�
���$	�� ��
2

������ �������� ��	��	�� +�	����� �� 	�/�<��	��� -�K���� ��
����

D
��
�����<0�� K�� ��	��	�< +�	���<D ��	��
���		� ��
�����<� � 	�����2
%�< ��	��	�< ���	�� � H�

�� #������D ��� ��� ����2�������$	�� ��	��	�� ���	�� ξ̂ ���9� ��
����2
���� ξ̂ ⊥ ξ − ξ̂�

�� M��� ��
�, H(η) �/�,	����$ ,���	���� ��	��	�� ����
���
�	����D ��2

�9��		�� ������	
� �����
�� η = {η∗1, . . . , η∗n}∗D � ��
�, πH(η)(·) B ���
���

�
����	��$	��� �
�����
���	�� 	� H(η) ?��� 
�,��  ���1@D �� ������	�D ���
����2�������$	�� ��	��	�� ���	��

ξ̂ = πH(η)(ξ).

���
���
 πH(η) 	�,
��<� ���9� ���
���
�� ��������� ���
�����
�

����� �#������ � !�
���� �����
 � �/�,	���<� M̂{ · | η}� ����� �/2

�,��D ξ̂ = M̂{ξ | η} B ����2�������$	�� ��	��	�� ���	���


� �@� ����+����!��� �����������
�� &���

-���$ ,���	� ��
���	���	�� �
���
�	���� {Ω,F ,P} � 	�����
�� �	�9�2
���� E ⊆ R

1 � ����/
�� E0 ��� ����	�9����� -���$ ���9� E = σ{E0} B
��	����$	�� σ2����/
�D ����
9�0�� E0�

� � 
 � � � � � 	 � �  ����'� 0���
����� ����"� Z0(Δ) = Z0(ω; Δ)� �
�
ω ∈ Ω� Δ ∈ E0� ��!������ "�
�
���
��� ���������
���� �

���
��
� M{Z0(Δ)} = 0� ������ ����
���� ��������1

�@ M
{|Z0(Δ)|2} <∞ 

 ���� Δ ∈ E02

�@ ��
� Δ1 ∩Δ2 = ∅� �
� Δ1,Δ2 ∈ E0� ��

Z0(Δ1 ∩Δ2) = Z0(Δ1) + Z0(Δ2) ?P2��	�@;

�@ ��
� {Δn} � ���
�
�����
������ �������� �! E0 ������ ���

Δ1 ⊇ Δ2 ⊇ . . . ⊇ Δn ⊇ . . . �
∞⋂
n=1

Δn = ∅ 	�� �� Δn ↓ ∅ ��� n → ∞��

�� M
{|Z0(Δn)|2

}→ 0 ��� n→∞�

�
��� ���� K����	��
	
� �������������� ��
 ���/
� �	��
�� ��� 	�%��
����� �
���������� �
����	��$	�� �������������� ��
��



3�� ����� %� $���(�������
� �
��
+����

��
 � � � � � 	 � �  ������ +
��������� ������������� ���� Z0(Δ)�
Δ ∈ E0 ��!������ �
������������ ��
� 

 
%$�� ����������%&��� 

Δ1,Δ2 ∈ E0 ����
���� Z0(Δ1) ⊥ Z0(Δ2)� �� �� M
{
Z0(Δ1)Z0(Δ2)

}
= 0�

�������������� ��
� Z0(·) ���	� ���,�	� � 	�����
�� 	�������	�� ��
��D
����
�� ��
�����	� 	� E = σ{E0} � �������� �����<0�� �/
�,��� -���$

m0(Δ) = M
{|Z0(Δ)|2} , Δ ∈ E0.

:��
��	� �
���
��$D ��� m0(Δ) B ��	��	�� ��
� 	� E0� ����� �� ���
���
��
������
� ?��� 
�,��  ����@ �� ��9	� ���	����		
� �/
�,�� �
����9��$
�� ��

 mD ��
�����		�� 	� E �

� � 
 � � � � � 	 � �  ������ 0������ ���� m(Δ)� Δ ∈ E ��!������ 
��
����
��� ������
� '
���������� ��������
���� ��������������
���� Z0(Δ)� Δ ∈ E0�

���,
������D ��
� Z0(·) ��9	� ���	����		
� ?P2��	�@ �/
�,�� �
����2
9��$ �� �
����	��$	�� �������������� ��

 Z(·)D ��
�����		�� 	� E �

� � � 
 �� �  ����)� ����� Z0(Δ)� Δ ∈ E0 � ��������
��� '
��������
�� ������������� ����� (��
� ��&������� �
��������� ?P2��	�@ �����
����
��� ���� Z(Δ)� Δ ∈ E ���� � ��� 

 
%$��� Δ ∈ E0 ����
����
Z0(Δ) = Z(Δ) ?P2��	�@� ������

M
{|Z(Δ)|2} = m(Δ), Δ ∈ E ,

�
� m(·) � ���������� ����"� ���� Z0(·)�
#�� � � � 	 � � C �� !�
� Z(·) �������� σ2�������	�� � ����2��
���D �� ��

���� Δn ∈ E D n = 1, 2, . . .D Δm ∩Δk = ∅ �
� m �= k � Δ =
∞∑
n=1

Δn ∈ E D ��

M

⎧⎨⎩
∣∣∣∣∣Z(Δ)−

N∑
n=1

Z(Δn)

∣∣∣∣∣
2
⎫⎬⎭→ 0 �
� N →∞.

�� !�
� m(Δ) ���9� /���� 	�,
���$ ��
����
	�� +�	����� �
����	��$2
	�� �������������� ��

 Z(·) 	� E D ��� ��� ��� �</��� Δ ∈ E �������

m(Δ) = M
{|Z(Δ)|2} .


� �*� �����������
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-���$ �
����	��$	�� �������������� ��
� Z(·) � �� ��
����
	�� +�	����
m(·) ,���	
 	� E � 6������
�� �����<0�� ��� ���$/�
���
� �
���
�	����C


